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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271465
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592724645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given responses, find the missing letter in the series.

AIPVAE?

Options:

1. = F
2.% G
3.vH
4, =]

Question Number : 1 Question Id : 54592724645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev v fashedl # & Aol & ofca 3187 &1 AT e

AIPVAE?
Options:
1. = F

2. = @G
3. v H
4. = |

Question Number : 2 Question |d : 54592724646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find out the next term:

1B1, 2D2, 3F3, 4H4,

Options:

1. = 316
2. % 613
3. = 4]6
4.v 55

Question Number : 2 Question Id : 54592724646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3Tl Ug ATd

1B1, 2D2, 3F3, 4H4,

Options:

1. = 316
2. = 613
3. = 4J6
4. v BJ5

Question Number : 3 Question Id : 54592724647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the series:

1E4, 9Y16, 4N10, 7Q14

Options:

1. = 9Y16
2. % 4N10
3. = 1E4



4. v 7Q14

Question Number : 3 Question Id : 54592724647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

*‘fix’.sloil H ITeld 9 T

1E4, 9Y16, 4N10, /Q14

Options:

1. = 9Y16
2. = 4N10
3. = 1E4
4. v 7Q14

Question Number : 4 Question Id : 54592724648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out from the given alternatives.

Options:

1. = Inch
2. = Foot
3. = Yard
4. v Quart

Question Number : 4 Question Id : 54592724648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu av fAredl & O R{AYH AT HL

Options:

1. % 3

2. * The
-

3. % TS
4.#?3—1‘5‘




Question Number : 5 Question Id : 54592724649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd group from the given alternatives.

Options:

1. * LNMO
2. » APBQ
3.« EUFV
4. v CRDT

Question Number : 5 Question Id : 54592724649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev av fashedl & TAWA @HE +T el

Options:

1. = LNMO
2. = APBQ
3. = EUFV
4. v CRDT

Question Number : 6 Question Id : 54592724650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1. = MK : NL
2.vBC:.FD
3. PN :QO
4. = WU : XV

Question Number : 6 Question Id : 54592724650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev av fashedt & & favA &1 v

Options:




1. = MK : NL

2. v BC : FD
3. * PN : QO
4. = WU : XV

Question Number : 7 Question Id : 54592724651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related letter / word /
number from the given alternatives.

TICKET : ADMISSION :: Money:

Options:

1. * book
2. » moral

3. = collar
4. v luxuries

Question Number : 7 Question Id : 54592724651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFTel&T e & U 10 TFhedl & & Fealead 387 / o5
| TEAT ® AT

feohe: wader o 4T

Options:
1. « J&dh
2. = dfde

3. % hleld
4. v Taentaqar




Question Number : 8 Question Id : 54592724652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related letter / word /
number from the given alternatives.

Wizard : Magic ::
Options:

1. = Flery : acquiver

2. » Water : sailing

3. v Embezzler : fraud
4. = Huckster : thievery

Question Number : 8 Question Id : 54592724652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafofa wead & RU 910 Theul & O Graleyd 3787 / ¢sg

/| g&aT T Afav]
o

ollggdix o O'II%: :

Options:

1. = $TOTeloh : UTod<hdl

2. % STel : alohTde]
3. v G : JIETIET
4. » giar : THT

Question Number : 9 Question Id : 54592724653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related letter / word /
number from the given alternatives.

BDFH: CEGI: : UWYA:

Options:



1. « HRFR
2. v VXZB
3. = RBDA
4. = KBLI

Question Number : 9 Question Id : 54592724653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFTel&T e & U 10 TFhedl & & Fealead 387 / o5
| TEAT ® AT

BDEJ : FLOD : : FIAC :

Options:

1. = HRFR
2. v VXZB
3. = RBDA
4. = KBLI

Question Number : 10 Question Id : 54592724654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language BREAK, is written as 51342 and
KITES is written as 27968. How will RIBS be written in that
code language?

Options:

1.~ 1758
2. % 1786
3. = 1859
4. % 1354

Question Number : 10 Question Id : 54592724654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fordT ffeae e s #, BREAK, T forma § 51342 31X
KITES ! fermrd & 27968. 38 e #vT # RIBS & forar
SITIaIT?

Options:

1. v 1758
2. = 1786
3. = 1859
4. » 1354

Question Number : 11 Question Id : 54592724655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code, language Bread is called Butter, Butter is
called Milk, Milk is called Shirt, Shirt is called Shoe, Shoe is
called Bicycle, Bicycle is called Watch, Watch is called
Aeroplane and Aeroplane is called Ship, then which of the
following indicates time in that language?

Options:

1. * Watch

2. = Bicycle

3. = Milk

4. v Aeroplane

Question Number : 11 Question Id : 54592724655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush [T e HIST H, 85 T AFEel, AFGeThl g, g I
FAHTST, FHST P ST, ST I ATehel, HTShol T TSI, TS
T dATeT 3 [dATT ST STEeT el SIer &, O 38§ $c @ A
ST AT hl SATAT & 38 FIT gl ST g7

Options:




R IEIE T

QY
v TaAT

ol
#®

Question Number : 12 Question Id : 54592724656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code, the following language is used:

“Adjacent School always not” is coded as “Dsk Mnt Pqs Frm”
“Always walit required admission” is coded as “Pqgs Jrk Bgf
Ams”

“required school needs reputation” is coded as “Bgf Mnt Reg
Wor”

“needs reputation Adjacent with” is coded as “Reg Wor Dsk
Glm”.

Answer the following questions:
What will be the code for “Not™?

Options:

1. v Frm
2. % Glm
3. = Pgs
4. = Dsk

Question Number : 12 Question Id : 54592724656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U fARET Fe A, rafaiEd A &1 39er fomar S §:

“Adjacent School always not” &I “Dsk Mnt Pgs Frm” & &9
H HIfsd fomam ar=m g

“Always wait required admission” &I “Pgs Jrk Bgf Ams” &

T H FHIfeT T =T &

“required school needs reputation” s “Bgf Mnt Reg Wor” &
T H FHIfeT fordT =T &

“needs reputation Adjacent with” I “Reg Wor Dsk GIm” &
T H HIed TRIT =T &

farafa@a weat & 3ca¥ arn:
"Not" & felv e Far gHm?

Options:

1. v Frm
2. = Glm
3. = Pgs
4. = Dsk

Question Number : 13 Question Id : 54592724657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five boys are standing in a circle. Ajay is between Ramesh
and Dev, Salman is to the left of Babu. Ramesh is to the left of
Salman. Who is to the right of Ajay?

Options:

1. = Babu
2. v Ramesh



3. = Devy
4, = Salman

Question Number : 13 Question Id : 54592724657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I @Sk Ueh gd H @3 g1 379y A AR 39 F & A g,
HAHTA, ST & &5 3N &1 THT FolA & a5 3 &1 3T &
R 3 Wi &7

Options:

1. = &g
2. v TA
3. = 2@
4. = HoTHT

Question Number : 14 Question Id : 54592724658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five persons P, QQ, R, S and T, who are of different weights, are
comparing their weights. R is heavier than at least two other
persons and S is lighter than at least three other persons.
None among R, S and T is either the heaviest or the lightest. T
is not heavier than R. If P is heavier than Q, then who is the
third heaviest among them?

Options:

1. = R
2.% 8§
3.vT
4 = P

Question Number : 14 Question Id : 54592724658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



O =ied P, Q, R, S 33X T, ST 37e9T-3709T golel & §, 3aleh
gotel T Jolell X @ &1 R, hA & FA & 377 AfFadl &
AT & 3 S A @ FF dlel 3T cATFaAT T Jolell H Foohl &
IR, SANTHIA RS e T8 IR AT gehl Aol &l T, R &
HRY 2T &1 I P, Q @ 9RT &, a7 38 @ JraT 98 SR
el &7

Options:

1. = R
2. » S
3.v T
4. = P

Question Number : 15 Question Id : 54592724659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a row of 16 boys, when Prakash was shifted by two places
towards the left, he became 7th from the left end. What was
his earlier position form the right end of the row?

Options:

1. = 7th
2. v 8th
3. = 9th
4. = 10th

Question Number : 15 Question Id : 54592724659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

16 oISehl I Tk Ulard H, ST WehIeT hI a5 3N & TATET 9T
TATATART TR 31T, aF 98 &0 SR & 7 o T 9T 37 1347)
aferd T a8 3N 3HhT qg el sar o4




Options:

1. = 741
2. v 8ar
3. % Odr
4. = 10ar

Question Number : 16 Question Id : 54592724660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are five men J, K, L, M and N and six ladies F, G, H, O,
W and X, ], K and H lawyers:

L, M, F, G and O are dentists and the rest are professors. We
have to select a team from these eleven persons subject to the
following condition

There must be 3 ladies and 3 men. And two persons must be
there from each profession.

], F and X have to be together.
K cannot go with M or H.

N and G have to be together.
L. and W have to be together.
M and F cannot go together.

L. cannot go with G.

If the term is to consists of two advocates, two doctors, two
teachers and not more than three ladies, the members of the
team are:

Which group of ladies are in the selected team?

Options:



1.+ F, G, X
2.« F,H,0O
3.= G, W, X
4. = HW, X

Question Number : 16 Question Id : 54592724660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g 959 B J, K, L, M 3R N 3R og Afgere F, G, H, O, W
AT X, J, K 3T H ghre:

L, M, F, G 3T O ga Rfrcgs & 31X s Miha &1 &7 S
TNE STTodal & & Ueh SIA I T haT 19T oI foidel
ufa & 3refia ghem-

3 AfgeT 3T 3 BT gl MgV 3R Tcds 9 F g sled
glel TET|

J, F 3T X T v @ g1ar &

K, M Ir H & a1y s1gr 31 el

N 3T G + T g g &l

L 3T W T T @7 BT &

M 3T F T &1 gl ST Hahd |

L, G & &1 A&l ST TehdT|

Tl STH H A3l 1 la A7 THg &7

Options:

1. v F, G, X



2. = F, H O
3. » G, W, X
4. = H, W, X

Question Number : 17 Question Id : 54592724661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mathew told his friend Sham, pointing to a photograph. “Her
father is the only son of my mother. “The photograph is of
whom?

Options:

1. » Mathew’s niece

2. » Mathew’s mother
3. v Mathew’s daughter
4. » Mathew’s sister

Question Number : 17 Question Id : 54592724661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Feg o U Qe OTH H, Ush dEaR W NI &l gV hEl
"$H ARl TOAT A AT F Fehelld IF 1" dEIR FRAhRT &7

Options:

1. = F2g Fr HdrT
2. = H Hr AT
3.¢ﬁiq\5ﬁfg3ﬁ'
4. = Heyg T §ge

Question Number : 18 Question Id : 54592724662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the question below, there are two statements followed by
three conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:
I. All pencils are bricks.
II. All bricks are hottles.

Conclusions:

I. All pencils are bottles.
I1. All bricks are pencils.
II1. No brick is bottle.

Options:

1. v If only conclusion I is true

2. = If only conclusion II is true
3. = If conclusion I and II follow.
4. = If conclusion I and III follow.

Question Number : 18 Question Id : 54592724662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A U 310 T A g YU« 3T 394 915 diel vy U e
gl 3Tl €T 9T FYUel hl oI HIdoT & Hel &I d gaard
Jeat & fiea wdia 21 & Tl fasewt & afer e o=
Fifew o fow oo foshst & @ @l a1 Thaard 59 @ 37eperor
LT &, TR FAAT T2 FS 7 gl

hefeT:
. T 4, ¢ &I
II. g7 S<, Sidd gl

IGLE P

. @afr 4ffer, sider B
I Tsfr, e, dfaer B

. 1% 3 el ol gl

Options:

1. v IT¢ Shad [y | TcT &
2. « gL gl Tashy || T &
3. = i foasahy | 3T || T &1
4, = I fomawy | 30T |l e §

Question Number : 19 Question Id : 54592724663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




For the Assertion (A) and Reason (R) given below, choose the
correct alternative from the following:

Assertion (A): Boiling point of freshwater is higher than that
of seawater.
Reason (R): Freshwater contains lot of impurities.

Options:
1. = Both (A) and (R) are true and (R) is the correct
explanation of (A)

2. = Both (A) and (R) are true, but (R) is not the correct
explanation of (A)

3. = {A) is true, but (R) is false
4. v {(A) 1s false, but (R) 1s true

Question Number : 19 Question Id : 54592724663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

J BT 97 2@ (V) 3K RO (3R & v, Heafoaa & |

i N
el faeheq e
O

& TSl WTell shT Faefelich HHAGT STel T Jolell H 3fAh & g
HIOT: dTer TTal H T AT 3reIfedT gl ¢

Options:

1. = &4l (A) 3R (R) @I § 3T (R) (A) 1 IgT =a1&am &
2. = gl (A) 3T (R) @ &, ofehad (R) (A) T TaT TISCIRI]
8l &

3. = (A) O &, ofhal (R) el &

4. v (A) e &, ofera (R) T &

Question Number : 20 Question Id : 54592724664 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Complete the following series:

3,8,22,90,7
Options:

1. = 324
2. v 448
3. = 442
4. % 350

Question Number : 20 Question Id : 54592724664 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

o s@rem wr @ +i:

3, 8, 22, 90, 7

Options:

1. = 324
2. v 448
3. = 442
4. = 350

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:
IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Mental Ability2

2
5459271222
0

0
No
No
0
20
No
Yes
0

0



Mental Ability2

Section Id : 5459271222

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459271466
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592724665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the given series:

2,5,9,14, 21, 27
Options:

1. %5
2. % 14
3.v21
4. % 27

Question Number : 21 Question Id : 54592724665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&r 95 AT H el TG AT P

2,5, 9, 14, 21, 27

Options:

1. = 5
2. = 14



3. v 21
4. = 27

Question Number : 22 Question Id : 54592724666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options:

Options:

1. = 98765

2. v 98756

3. = 987654
4. % 9876543

Question Number : 22 Question Id : 54592724666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2T v Jwreur & O fHed H{amﬁgﬁl

Options:

1. = 98765
2. v 98756
3. = 98/654
4. = 9876543

Question Number : 23 Question Id : 54592724667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd numeral pair / group in each of the following
questions:

Options:

1. = 81-45
2. % 21-33

3.% 51 - 27
4.v 50 -64



Question Number : 23 Question Id : 54592724667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uedsh feirafell@d ueal A a9 §&aT drel I3A /| THE H
ST LS

e

‘Ip. = 81 - 45
2. = 21-33

3. = 51 - 27
4, v 50 - 64

Question Number : 24 Question Id : 54592724668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd numeral pair / group in each of the following
questions:

Options:

1. = 77-64-141
2.x43-30-73
3. % 82-069-151
4. v 61-45 - 105

Question Number : 24 Question Id : 54592724668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ucdsh feirafeli@d yeal & favA §&aT drel I9H / THE H
TTIT:

O
Options:

1. = 77 - 64 - 141
2. = 43 - 30 - /3
3. = 82 - 69 - 151
4. v 61- 45 - 105




Question Number : 25 Question Id : 54592724669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related letter / word /
number from the given alternatives:

(420, 256, 338)

Options:

1. = (216, 320, 276)
2. = {216, 320, 272)
3. v {216, 320, 268)
4. = (216,318,268)

Question Number : 25 Question Id : 54592724669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafofa wead & RU 910 Theul & O Graleyd 3787 / ¢sg

/| g&aT F AT
o

(420, 256, 338)

Options:

1. = (216, 320, 276)
2.« (216, 320, 272)
3. v (216, 320, 268)
4. = (216,318,268)

Question Number : 26 Question Id : 54592724670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find out missing number from the following given figure.

Options:

1. = 28
2. v 30
3.% 35
4, % 27

Question Number : 26 Question Id : 54592724670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

forafafEea fev arv faswedl # & ofcd A&AT AT HIlv|

Options:

1. = 28
2. v 30
3. = 35
4. = 27



Question Number : 27 Question Id : 54592724671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘@ means X, ‘C means ‘=, % means (+) and ‘$’means -,
then 6%12C3@8 $ 3=

Options:

1. = 37
2.v 35
3. % 39
4. % 33

Question Number : 27 Question Id : 54592724671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife: @ &7 3T x ) CHHT 2 E, % F AT (+) 3T S
‘T 39T - ', dr 6%12C3@8 $ 3=7

Options:

1. = 37
2. v 35
3. = 39
4. = 33

Question Number : 28 Question Id : 54592724672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the question given below, there is a statement followed by
two conclusions. You have to take the given statement to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:
. G>R=2E=A=<T=x<S§

Conclusions:
ILE>G
I. AxS

Options:

1. v Only conclusion II is true

2. = Only conclusion I is true

3. = Either conclusion I or II is true

4. » Neither conclusion I nor II is true

Question Number : 28 Question Id : 54592724672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SR fRw aTe et H, U FU F 1 oy fovw§ | ey fou
AT HU Pl oI Al &, Hol &I T JH dX W AT T4 +
gre faeRor s & AN e au Y Tk fqu a0 v 7 &

Flel AT fAshy TTfoheh T F 3HTEIOT FIAT B

h

LG>Rz=zE=A=<T=<35

IA

GRS R
. E > G
. A = S

Options:

1. v &had oy || OcT &

2. = ohaol 5y | T &

3.+ AT Al fosehy | A Il @ &

A, s A ey | 3R TS Il T T &

Question Number : 29 Question Id : 54592724673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the given series:

2,3,5,8,17, 34

Options:

1. = 34
2. % 17
3.v8
4 %5



Question Number : 29 Question Id : 54592724673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&T 35 e H T 9§ AT

2, 3,5 8, 17, 34

Options:

1. = 34
2. % 17
3. v 8
4. = 5

Question Number : 30 Question Id : 54592724674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diagrams best represents a
relationship among Men, Indian and Writer?

Options:

1. v



.. (0O

Question Number : 30 Question Id : 54592724674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d & & &l @1 R 9oy, aRd 3 od@s & o
a T Wdiardcd T &7

Options:

1. ¢

2. %

,.©0
.. (DO

Question Number : 31 Question Id : 54592724675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which one of the following set represents Interns who are
appointed but not have permanent jobs?

Interns ﬁ
“ Parmanent

Appointed
Options:

1.+«bandd
2.xbandf
3.=d,eandf
4 =eandf

Question Number : 31 Question Id : 54592724675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feFITeT=T # & Fid F wiie] &1 qfdiaidcd wIar g o

[nterns

I

Parmanent

Appointed
Options:

1. v b 3T d
2. = b 3T f
3. » d, e AR f



4. = e 3T f

Question Number : 32 Question Id : 54592724676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Complete the series by choosing right figure from the given
choices.

Problem Figures
e a8 ]
:‘:'-:: 1:-‘:' [#] o
oo ala o a|lo O g|p e O
.Dmﬁ o,0 ':'n‘:' & GG
1 2 3 4
Options:
& )
o Q o

1. % o ° o

Question Number : 32 Question Id : 54592724676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fgu a0 fashedt & & FEl 3cay Teiohd HTolT R T F|

95l 3P
N0 (0] N
:C'-:: c-c' [ #] o
o0 alo o ol O g|lD @ O
| 950 | Big® | 9P |y ©F
1 2 3 4

Options:



=]

D
#®
o

Question Number : 33 Question Id : 54592724677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the series by choosing right figure from the given
choices.

N0DE

(@ (b () ()

Options:




o0

Question Number : 33 Question Id : 54592724677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fgu v fashedt A & WEl 3oy eIl HZeT R T F|

olef+]

(@ (b)) () (d)

Options:

.10

Question Number : 34 Question Id : 54592724678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the missing figure in the given matrix.

<
A

Options:

ol B8 |h

|

Question Number : 34 Question Id : 54592724678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few a0 #fgsRT & ofcd 3Pl AT HIfeiv]

.E_
<Ol ?
ANE\IR

Options:




1. =

D
2. ¢

D
CHE

Question Number : 35 Question Id : 54592724679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the four figures are in a sequence or similarity in
some way or the other. You have to choose the figure which is
odd /different:

Options:

e

y




-+

4 v

Question Number : 35 Question Id : 54592724679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@d I ™A & & died # U GHATAAT g1 3Rl 98
3T Totell & ST fawe / fawer gl

%

v

i




Question Number : 36 Question Id : 54592724680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many squares are there in the following figure?

Options:

1.%5
2.v9
3.% 7
4, % 8

Question Number : 36 Question Id : 54592724680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ot sy & fras @t 2

Options:

1. = 5
2. v 9
3. % 7



4. = &

Question Number : 37 Question Id : 54592724681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number is opposite 3, if four different positions of a
dice are as shown below?

DO DS

(i) (iii) (iv)
Options:

1. =6
2.v4
3.3
4, % 2

Question Number : 37 Question Id : 54592724681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HleT AT T&AT 3 & TAHIT &, IS TF 9T & IR 376l9T-3769]
Tl aild fS&me v 87

DO DS

(i) (iii) (iv)
Options:

1. = 6
2. v 4
3. % 3
4, = 2



Question Number : 38 Question Id : 54592724682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question find the answer figure in which
question figure is embedded.

Question Figure

=

Options:

/]
[
™

&

3.v

N

4 %

Question Number : 38 Question Id : 54592724682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f&U 97 weel A Scol 3hfd A1 HIGIT o dd geat i

Aleaiad ol

WR AT

-

Options:




TN
Al
N

x>

Question Number : 39 Question Id : 54592724683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which answer figure will complete the pattern in the
question figure?

Question Figure

h
g

?

Options:

182

2.« B




4. v

Question Number : 39 Question Id : 54592724683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SleT &I e 3Tpic WoeT 3Tpld H Yol I [T FIEA?

FEERICar]

h

P Y

?

Options:

S

Question Number : 40 Question Id : 54592724684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following choices is the exact mirror image of
the main figure.

Main Figure

19

Options:

1. =

>
D
>
<l

4 v

Question Number : 40 Question Id : 54592724684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad & & wia @1 Ghed A&T 3pfa HT Tk guor
oia &7

R TR

19

Options:




g ¥ | |8
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Group Marks:
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Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 5459271467
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592724685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following dance forms was introduced in the
15th century A.D by the great Vaishnava saint and reformer
of Assam, Mahapurusha Sankaradeva?

Options:

1. = Odissl

2. v Sattriya

3. » Mohiniyattam
4. = Kathak

Question Number : 41 Question Id : 54592724685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1597 erdredl $EaT # foieatieli@d # & Hid & e F1 F FHglo
dvorg |l AT 3EH & FUNF, AFTIEY ehied ZgrT ger fohar
IgT AT?

Options:

1. = 3nf=dr
2. v §didT
3. % Algal3Tgd

4. % FAR

Question Number : 42 Question Id : 54592724686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who out of the following is known as “Carnatic Sangeeta
Pitamaha”?

Options:



1. v Purandaradasa

2. » Krishnadevaraya

3. = Haripala

4. = Bhadra-chalam Ramdasa

Question Number : 42 Question Id : 54592724686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ # @ F8 "wdlced T@Iar NamAg" & a7 I ST
ST 87

Options:

1. v aradaldl

2. * FHEUGHE
3. = giYTel
4.

# Hal-delH ITHATHT

Question Number : 43 Question Id : 54592724687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the biggest festival of the state of
Odisha?

Options:

1. = Durga Puja

2. = Ganesh Puja

3. v Rathayatra

4. = Karthikai Deepam

Question Number : 43 Question Id : 54592724687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafoT@aT & O i @7 30T T FT T F27 AN 57

Options:

1. = galm el




2. = JTOTLT T
3. v {UIgMET

4. = SFIfciers SOH

Question Number : 44 Question Id : 54592724688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Basilica of Bom Jesus is in (1)___, along the coast of
river __ (i1)
Options:

1. = (1) Ahmedabad (ii) Sabarmati
2. » (1) Delhi (i1) Yamuna

3. » (1) Kolkata (i1) Hooghly

4. v (1) Goa (i1) Mandovi

Question Number : 44 Question Id : 54592724688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR 36 & sag () A, (i) o el & dc
& g g

Options:

1. = (i) 3@HSERE (i) HEHAr
2. = (i) Teeelr (i) Igam

3. = (i) SleRhAT (i) garelr

4. « (iy Mar (i) AsEr

Question Number : 45 Question Id : 54592724689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How much surcharge hike has been introduced in the Union
Budget 2019 for calculating income tax on an income of Rs. 2
crore to 5 crore per annum?

Options:



1. = 0.015
2. v 0.03
3. % 0.05
4. = 0.07

Question Number : 45 Question Id : 54592724689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FT Folc 2019 # 2 FUS & 5 FOF 9T uigay Fr 3T W
HHT FT A0TT & Tolv Torcell 3TfIHT gig der &r arg 872

Options:

1. = 0.015
2. v 0.03
3. = 0.05
4. = 0.0/

Question Number : 46 Question Id : 54592724690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does MDR in the context of digital transaction stand for?

Options:

1. = Market Debit Rate

2. » Merchant Debit Rate

3. = Market Discount Rate
4. v Merchant Discount Rate

Question Number : 46 Question Id : 54592724690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f3foicer olecer & TcH # UHSIAN a1 87

Options:

1. = H%he 29 e
2. «» Il 2fee ¥



3. * HAThe BEREe I

T“ ¥
4. v Adc TBEh3e I

Question Number : 47 Question Id : 54592724691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the Economic Survey 2018-19, to achieve a 5
trillion US Dollar economy India needs to sustain a minimum
real growth of per annum.

Options:

1. = 0.03
2. » 0.07
3.v0.08
4. = 0.1

Question Number : 47 Question Id : 54592724691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TeTeR {deTor 2018-19 o 3MqAR, 5 feferer 37ARERT 3Ter T
FASIGEAT T UTeT el & [olT HRT 1 el H
yiaay arEaidess [T &l S0 I&el T 3TTeThdT &l

Options:

1. = 0.03
2. = 0.0/
3. v 0.08
4. = 0.1

Question Number : 48 Question Id : 54592724692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many average neutrons are released per fission of
uranium nucleus?

Options:

1. =1



2.v 2.5
3. % 4.5
4. % 3

Question Number : 48 Question Id : 54592724692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oty Qs Rrdss & Aae fhae sgelel $1 Seafed @ &7

Options:

1. % 1
2. v 25
3. % 45
4. = 3

Question Number : 49 Question Id : 54592724693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following substance medium will have the
highest refractive index?

Options:

1. » Water

2. = Crown glass

3. = Dense flint glass
4. v Diamond

Question Number : 49 Question Id : 54592724693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaaa uered ATeTd T # fFTehRT 3Ugddie Taiaes &7

Options:

1. = Sfel

2. % Shi3el I

3. » HHel Telc s



4. v BN

Question Number : 50 Question Id : 54592724694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

If a thin strip of magnesium is brought near a candle then it
will burn with a -

Options:

1. = Blue light
2. = Red light
3. v White light
4. = Yellow light

Question Number : 50 Question Id : 54592724694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife HeIRRIA T T gdell TS S AHEScAT =hl off & 9
SIR—IT ST, ar g Uk TRTeT ShY STolal ofeTal &l

Options:

1. = arell
2. % ool
3. v edd
4. % Hrell

Question Number : 51 Question Id : 54592724695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not an endocrine gland in
human-brains?

Options:

1. = Pituitary gland
2. = Pineal gland

3. » Hypothalamus
4. v Thymus



Question Number : 51 Question Id : 54592724695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@ad & & Fladl AT-ardr afT Aqeat & AT 7 70
g7

Options:

1. = Y aIfy

2. = Taferger aifer
3. = gudaad
4, v ARG AT

Question Number : 52 Question Id : 54592724696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following fall under invertebrates?

Options:

1. v Insects, Molluscs, Crustaceans
2. = Fungi, Algae, Lichens

3. » Fishes, Reptiles, Mosses

4. = Birds, Mammals, Angiosperms

Question Number : 52 Question Id : 54592724696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

rfai@a # @ Fiad [dsheq & AR ST a6t FHg 37ehersshT
H 3T 87

1. v @hie, HAlelEeh, shec T

2. = g, AT, oSehel

3. * Hced, §gY, ANGH

4. » 9&fT, TITURT, gcers

Question Number : 53 Question Id : 54592724697 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about sewage treatment is
incorrect?

Options:

1. v Anaerobic microbes consume the major part of the
organic matter in the primary effluent to reduce the
Biochemical Oxygen Demand (BOD)

2. * When the bacterial ‘flocs’ are allowed to settle in the
effluent, it is called the activated sludge

3. * The primary sludge mostly consists of rocks, pebbles and
other solid impurities

4. = Biogas is formed during the treatment

Question Number : 53 Question Id : 54592724697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

IfgddAe 3TUR TFaedl Siear wa g &7

1.%m@wwmaﬁzmﬁmﬁ$wﬁﬁ
F9T T o &, oraa SE:9a T STl Gl MiFaTeld [SATS
g7 ST g ST §

2. = 59 SAIV] 3JUs (Felled) 31adre # gRafdd & S &,
38 gfsrdla 39 Fgad &

3. = UIITA® 39+ H HId: Yc2, Fhhs SIF 3G 3T gl
g

4. = 3TAN & NI STARPN a7 f&ATor & ar &

Question Number : 54 Question Id : 54592724698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following hormones inhibits growth in plants?

Options:




1. » Auxin

2. = Cytokinin

3. v Abscisic acid
4. = Amino acid

Question Number : 54 Question Id : 54592724698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farfaf@a & @ i ar gmAfa dtat 7 gfg w1 dJewar &7

Options:

1. = 3Tferaed
2. » HISClhlslald]

3. v ulsgfas 37Far
4. = UTHAT 3FoT

Question Number : 55 Question Id : 54592724699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about tumors is incorrect?

Options:

1. = Benign tumors remain confined to their original location
2. = The cells of malignant tumors grow very rapidly
3. v Benign tumors are actually a mass of neoplastic cells

4. = Metastasis is the most feared property of malignant
tumors

Question Number : 55 Question Id : 54592724699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3e FFaedl farafal@a Fual & & Siaar Tod g7

Options:

1. * HIA 3EC 379« Hel TAT T HIAT B &
2.  ZEA 374E T HIRIAET T gi& g I glar &




3. v gaH 31g aagedd (farcentees) HIfRrmrst #r gor &
4. » AT EA 3TSCl 1 Fd STGel a[oT §

Question Number : 56 Question Id : 54592724700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The River (i) is known as the ‘Sorrow of Bihar’, because it
(11) :
Options:

1. = (i) Kosli (ii) runs dry, causing famines

2. = (1) Damodar (ii) changes course, causing floods
3. v (1) Kosl (ii) changes course, causing floods
4. = (1) Damodar (ii) runs dry, causing famines

Question Number : 56 Question Id : 54592724700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aar (i) R 'TOgR & ok & T H FATAT ST
g, Faifter I& (i) |

1. = (i) T (i) FET 5T &, oG 37hTer IS &
2. = (i) START (i) AN scoar &, s oG 3mdr &
3. v (i) T (i) AR FEeIdr &, ToEd a1 3dr g
4. = (i) STANET (i) GET 98T &, [Sraa 31ehrel ugar g

Question Number : 57 Question Id : 54592724701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not situated in the Pacific Ocean?

Options:

1. * Mariana Trench
2. = Devil’s Sea
3. v Bermuda Triangle




4. = Philippine Trench

Question Number : 57 Question Id : 54592724701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFafeled # & shid &7 9T AGEER H T &gl &7

1. = AT &TE
2. = 3fded HEX
S.meﬁﬁw
4, = Thelldler @S

Question Number : 58 Question Id : 54592724702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following soils swell and become sticky when
wet and shrink when dried?

Options:

1. = Alluvial Soil
2. v Black Soil

3. = Red Soll

4. = Laterite Soil

Question Number : 58 Question Id : 54592724702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el & & Sl @ B A gt W RuRd 3 gor
ST § 3T gEe W s e 2

Options:

1. » Selle fAgT
2. v Tl THET
3. = orer fHET
4, = derse (ol TAE) fAEr




Question Number : 59 Question Id : 54592724703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about the different types of
millets is incorrect?

Options:

1. v Bajra is the third most important food crop in India with
respect to area and production

2. = Jowar is a rain-fed crop mostly grown in the moist areas
which hardly needs irrigation

3. = Bajra grows well on sandy soils and shallow black soil
4. = Ragl is a crop of dry regions and grows well on red, black,
sandy, loamy and shallow black soils

Question Number : 59 Question Id : 54592724703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TP & o & T H AFafoiEd # O hid 8T U
TeTd §7

Options:

1. v 87 3T 3c9led & 89 H TRl HRd T T J&ad
Agca Ul EET FEel §

2. » SAN gu 3T Bl g o JATUhady o7 8491 7 395
ST & o e & amae & Maegear gdr &

3. = FToRT Idrelr fAET 3T Ul Fer P W 3= W &
39T &

4. » TET eroeh &AL T BEer & 30T oo, FHell, IdTell, AIAC
AT 3ol FTell THET W e dig I 39T &

Question Number : 60 Question Id : 54592724704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following groups of states show a low rate of
population growth not exceeding 20 per cent over the decade?

Options:

1. ¥ Karnataka, Tamil Nadu, Kerala

2. » Karnataka, Kerala, Bihar

3. = Odisha, West Bengal, Uttar Pradesh
4. = West Bengal, Uttar Pradesh, Bihar

Question Number : 60 Question Id : 54592724704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et # @ T 5T & THg # STa8edl gig o &A § ST T
gerR 7 20 widerd @ 31fa @igt &7

Options:

1. v Shallcsh, A, Fla

2. = Shellceh, hidl, BN
3. = 3Eem, ufead S9Tel, 3cad uder
4. = iegH ST, 3ca¥ uer, WEr
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Group Id: 5459271224
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No
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Group Marks: 20
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General Awareness2



Section Id : 5459271224

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271468
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592724705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following neighbours of India has Taka as its
currency?

Options:

1. = China

2. » Myanmar
3. = Sri Lanka
4. v Bangladesh

Question Number : 61 Question Id : 54592724705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RA F frafarad TSIt & & frehr 7ar e &2

Options:

1. = =TT
2. « FITAR
3. = SfTelehT
4. v SIIeIeel

Question Number : 62 Question Id : 54592724706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following sites was the Great Bath found?

Options:

1. * Chanhu Daro



2. » Lothal
3. = Harappa
4. v Mohenjo Daro

Question Number : 62 Question Id : 54592724706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aol d # 8 fopg T WX “Taeiel TATAER” THeT a17?

options:
1. « Tog a”T
2. % olverer
3. = gsCar

4. v AlETNEs)

Question Number : 63 Question Id : 54592724707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The only empress of the Delhi Sultanate ruled during the
period of:

Options:

1. » 1206-1210 AD
2. % 1210-1236 AD
3.+ 1236-1240 AD
4. % 1266-1287 AD

Question Number : 63 Question Id : 54592724707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feooll Todad I TRATT TATHTAT o fovd el H emda fhar?

Options:

1. = 1206-1210 &
2. = 1210-1236 &
3. v 1236-1240 §




4. = 1266-1287

Question Number : 64 Question Id : 54592724708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In which of the following Battles was Humayun defeated by
Sher Shah Suri?

Options:

1. = Battle of Khanwa and 1st Battle of Panipat
2. = Battle of Khanwa and Battle of Chausa

3. = Battle of Chausa and Battle of ChanderI

4. v Battle of Chausa and Battle of Kanauj

Question Number : 64 Question Id : 54592724708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AeATE AT o §ATY T ohE J& H §aT AT

1. * Fletal T Jg 3T ITATd FT I8 I§
2. = Hledl F1 I§ 3N AT KT Ig

3. « =T &1 I IR T HT Ig

4. v TG FT I§ 3N Feailol FT G

Question Number : 65 Question Id : 54592724709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the British East India Company appointed
as the Diwan of Bengal?

Options:

1. = 1762
2. % 1763
3. = 1764
4, v 1765

Question Number : 65 Question Id : 54592724709 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

forfeer Svc ST3AT FUAT I TN & g & &7 H hg Ty
fogera foram amm or?

Options:

1. = 1762
2. = 1763
3. = 1/64
4. v 1765

Question Number : 66 Question Id : 54592724710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Who out of the following Freedom Fighters of India had said
in his speech that the goal of national education was to
awaken the spirit of nationality among the students?

Options:

1. v Aurobindo Ghosh

2. » Motilal Nehru

3. = Ishwar Chandra Vidyasagar

4. » Bankim Chandra Chattopadhyay

Question Number : 66 Question Id : 54592724710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRT & TorATa&d TadadT Salaal # & e 379a HATYOT
H gl o7 foF e 18T 7 a8 oI # TSeIddT @l $TdelT
Y SE[T Tl AT?

Options:

1. v 3(eer =Y
2. = AT Sg®

3. * 2eaV dUg TdCATEPR




4. » Sfohd Tg TEUTEIT

Question Number : 67 Question Id : 54592724711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

After the Partition of Bengal the Congress split in the year
(1)__, to be re-united again in the year (i1)__.
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. (1) 1905 (11) 1916
2. (1) 1906 (1i) 1915
3. (1) 1907 (11) 1914
4. (1) 1908 (11) 1913

Question Number : 67 Question Id : 54592724711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et < fawTetsr & a1¢ FE@F av () & foenfad g, av
(i) ___ # R5T & wohele g8

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. (i) 1905 (ii) 1916
2. (i) 1906 (i) 1915
3. (i) 1907 (i) 1914
4. (i) 1908 (i) 1913

Question Number : 68 Question Id : 54592724712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who out of the following has been appointed as the new Chief
Executive of the European Commission?

Options:

1. v Ursula von der Leyen
2. * Andrea Nahles



3. » Olaf Schlos
4. = Sigmar Gabriel

Question Number : 68 Question Id : 54592724712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@d & & fF8 FUIT 3T FT 797 T FRIFRT
fogera foram amm &7

Options:

1. v 34T die 3T o
2. = UMSAT oAged
3. = 3ol Tohlel
4, » TEITAT e

Question Number : 69 Question Id : 54592724713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who became the first woman Chief Economist of the
International Monetory Fund (IMF)?

Options:

1. * Emi Nakamura

2. » Christine Lagarde
3. v Gita Gopinath
4. = Tulsi Gabbard

Question Number : 69 Question Id : 54592724713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AW HGT FIY (3MSUAUK) T Ygell Afgel TTT LA
Rie Tal?

Options:

1. = AT SR
2. = TohECIT olaTs




3. v Jrar adrereyr

4, = gljeiﬂ“l IS

Question Number : 70 Question Id : 54592724714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who out of the following was awarded the Ashok Chakra for
the year 20197

Options:

1. = Major Tushar Gauba

2. » Lt. Col Vikrant Prasher

3. = Captain Abhay Sharma

4. v Lance Naik Nazir Ahmad Wani

Question Number : 70 Question Id : 54592724714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@ad & O 8 a¥ 2019 & 37eler I & GFATAT TohaT
AT AT?

Options:

1. = ASK JuR JilsT
2. = olftcalc Thalel Tdehld WTRIT
3. % Thtcel 39T AT
4,

v olF I ol 3gHAS dlal

Question Number : 71 Question Id : 54592724715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which out of the following is not a novel written by Jules
Verne?

Options:

1. = Journey to the Center of the Earth
2. v The Invisible Man
3. » Twenty Thousand Leagues Under the Sea



4, = Around the World in Eighty Days

Question Number : 71 Question Id : 54592724715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArfod # & Fiaar S[ed def Sgrr fel@n =7 U=y «iel
g7

Options:

1. = STl € HeT 3% § 31
2. v T Sddloteel Hel

3. % TILr AT3915 ool 35T g AT
4. » 3138 T Tes S Tel 391

Question Number : 72 Question Id : 54592724716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the NITI Aayog formed?

Options:

1. = 2012
2. % 2013
3. = 2014
4, v 2015

Question Number : 72 Question Id : 54592724716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 3TANST T Ia ThT a¥ & haT =1 4T1?

Options:

1. = 2012
2. = 2013
3. = 2014
4. v 2015

Question Number : 73 Question Id : 54592724717 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Robert Hooke 1s known for the discovery of

Options:

1. = Blood Groups
2. v Cells

3. #» Spinal Cord
4. = Antibodies

Question Number : 73 Question Id : 54592724717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬂaﬁﬂﬁﬁw‘ﬂﬁra’lﬁr#ﬁvwﬁ ST &7

Options:

1. % J&Fd HHG

2. v HIERIT

3. » A%EUZ

4. = gfaug (VEiareT)

Question Number : 74 Question Id : 54592724718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about the Zero Hour of the
Parliament is incorrect?

Options:

1. = It is not mentioned in the Rules of Procedure

2. = A (uestion can be raised in the Parliament without a
prior notice

3. v It starts before the Question Hour session of the
Parliament

4. = It is an Indian innovation

Question Number : 74 Question Id : 54592724718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TEE & edehlel & TR H farafeli@d # & FleT AT FHel eI
&7

Options:

1. » Ig hI-gdreld [Auas @IAT # Iea@d o8l &
x qd FeIl & {61 qE@E H WRA 31T S Hhell &

M

2.
3. v & THS & YRR TF H Ugel UF BIAT &
4. » I& Toh ARG ddER §

Question Number : 75 Question Id : 54592724719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cases laid down the doctrine of ‘basic
structure’ of the Indian Constitution?

Options:

1. v Keshavananda Bharati Case
2. » Golak Nath Case

3. = A. K. Gopalan Case

4. = Shankari Prasad Case

Question Number : 75 Question Id : 54592724719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forafeli@d A @ fhe HAheA o HRAT dfaurl & 'glaamd
g o ETT & ITIR TA=AT?

Options:

1. v hedlele, HRAT YehdoT

2. % Felh AT HeRIU

3. % W, . INUTelel UhiU]

4. = R THTE TR0l

Question Number : 76 Question Id : 54592724720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following languages were not added to the
Eighth Schedule of the Indian Constitution through the
71stConstitutional Amendment Act?

Options:

1. * Konkani
2. v Sindhi
3. » Manipuri
4. = Nepali

Question Number : 76 Question Id : 54592724720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFafofEd # & il T H197 719 Fidumel Fendel dafaaH
% ATETH & AR QAT ®T Sl g A SsT «far arg?

Options:

1. = SRlehUIT
2. v &Y

3.« FfoTg
4, = ATl

Question Number : 77 Question Id : 54592724721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The (1)__ had given the recognition of the Portfolio system
which was introduced by (11)___.

Options:

1. = (i) Indian Councils Act of 1892 (i1) Lord Dufferin
2. = (1) Indian Councils Act of 1909 (ii) Lord Canning
3. v (1) Indian Councils Act of 1861 (ii) Lord Canning
4. = (1) Indian Councils Act of 1861 (i1) Lord Dufferin

Question Number : 77 Question Id : 54592724721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



(i) o MEHTeT "umelr T Atedar ar o fod (i)
AT 92T TR =T 2T

Options:

1. = (i) YRAT FE™S FRATH 1892 (i) o5 SHRA
2.« (i) AR oftvg fAfEA 1909 (i) @FE Hferer
3. v (i) 1861 &7 HRAT yRNe sifafera (i) ofg Har
4. = (i) AT ofivg afafama 1861 (i) &% swhE

Question Number : 78 Question Id : 54592724722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Virat Kohli has recently completed 20,000 international runs
in innings.
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1.401
2. 416
3. 435
4. 453

Question Number : 78 Question Id : 54592724722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fatTe FIgelr o Tl 87 A giT # 20,000 3AATSET I
¥ forw §

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 401
2. 416
3. 435




4. 453

Question Number : 79 Question Id : 54592724723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following teams does Lionel Messi play for?

Options:

1. = Brazil

2. = Spain

3. v Argentina
4. = England

Question Number : 79 Question Id : 54592724723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToRileier ATAT Todtloi@ad & & ool &F & folw Tord 87

Options:

Question Number : 80 Question Id : 54592724724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following countries will the Cricket World
Cup 2023 be held?

Options:

1. = Australia

2. » South Africa
3. = West Indies
4. v India

Question Number : 80 Question Id : 54592724724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forore T9eT T 2023 AFroi@d A & rg or & smafea
TR SATTT?

Options:

1. = 3freeferT
. % ET&UT 3YATRT

2
3. » d¥C 3
4

. v AN

Arithmetic Ability1
Group Number : 5
Group Id : 5459271225
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271225
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 5459271469
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592724725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What should come in place of the question mark (?) in the
following question?

(4700 + 3200 + 2100) + (200 + 5x5-195) =7

Options:

1. = 3000
2. % 2500
3. v 2000
4. = 2100

Question Number : 81 Question Id : 54592724725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T wesT H weeTares g (?) & TUTT UT FAT 3Te]

aqTigT?

(4700 + 3200 + 2100) + (200 + 5 x 5 - 195) = ?

Options:

1. = 3000
2. = 2500
3. v 2000
4. = 2100

Question Number : 82 Question Id : 54592724726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

56 x445 + 77 x 555+ 21 x445 =7

Options:

1. = 75000



2. % 76000
3. = 78000
4. v 77000

Question Number : 82 Question Id : 54592724726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafa T wee H UReaaeies (?) & TUTT UT FAT e

AT

56 x 445 + 77 x 555 + 21 x 445=7

Options:

1. = 75000
2. = 76000
3. = /8000
4. v 77000

Question Number : 83 Question Id : 54592724727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

1 1%l 2 6-=7
4 9 2 2
Options:

1. = 17
2. % 27
3. % 42

23
4. v i



Question Number : 83 Question Id : 54592724727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafa T uee H UReaes eg (?) & TUTH 9T FAT HTa]

AT

i i@l a5 =3
4 9 2 2
Options:

1. 17
2. % 27

3. % 42
4.&?12

Question Number : 84 Question Id : 54592724728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

1 3 3 1
6-+4>—-3>-6-=?

& & 4 4
Options:

1. % 2
2.% 3
3.5 4
4.v1

Question Number : 84 Question Id : 54592724728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T wesT H weeTares g (?) & TUTT UT FAT 3Te]

aqTigT?

6=+4>-32_6-=7
] 6 4 4
Options:

1. = 2

2. % 3

3. = 4

4. v 1

Question Number : 85 Question Id : 54592724729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following questions?

[(11)3 x (?)2] + 33 = 1452

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1.4
2.6
3. 36
4.16

Question Number : 85 Question Id : 54592724729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et T Ul H UReldrder eg (?) & TATH UT FAT ™Y

[(11)3 x (?)2] + 33 = 1452



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 4
2. 6
3. 36
4. 16

Question Number : 86 Question Id : 54592724730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What should come in place of the question mark (?) in the
following questions?

(63 x 62) x (64 ~ 62) = 67

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.7
2.5
3.6
4.4

Question Number : 86 Question Id : 54592724730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFala&d e # uesarer eg (?) o TATT UL FIT RT?

(63 x 62 )x (64 + 62 )= 67

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1.7
2.5



3. 6
4. 4

Question Number : 87 Question Id : 54592724731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the HCF. of &, 2 18 :md%

10'25 '35

Options:

1. =

L

3 v 1200

&3

4. % ™

Question Number : 87 Question Id : 54592724731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= 31'!'{ = ol HETH BAIEAS S SR

10’25’ 40

Options:

3 v 1200



63

4,

Question Number : 88 Question Id : 54592724732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Findthe LCM.of 2,2 2 2
TG P

27
Options:

£
1'23 54

2. % =z

4 v 4

Question Number : 88 Question Id : 54592724732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

(]
w| B

4. v 4

Question Number : 89 Question Id : 54592724733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following will completely divide the product of 6
consecutive natural numbers from 78 to 837

Options:

1. = 600
2. % 2160
3. = 480
4. v 720

Question Number : 89 Question Id : 54592724733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafel™@aT # @ i @71 Thed 78 T R 83 der THT
TR fcieh TEAT3T F I0TAh hI [T g T fsnfora wiam?

Options:

1. = 600
2. = 2160
3. = 480
4. v 720

Question Number : 90 Question Id : 54592724734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following numbers is divisible by 367

Options:

1. = 2568
2.v 2736
3. = 3854
4. % 3214

Question Number : 90 Question Id : 54592724734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafofEd # @ i & &1 36 @ [ g Tiela &7

Options:



1. = 2568
2. v 2736
3. » 3854
4. » 3214

Question Number : 91 Question Id : 54592724735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At a shop, the chocolate is available at 15% discount and
biscuit is available at 25% discount. The marked price of
chocolate 1s 60% of the marked price of the biscuit. By what
percent is the selling price of chocolate less than the selling
price of biscuit?

Options:

1.+~ 0.32
2. % 0.34
3. = 0.29
4. % 0.25

Question Number : 91 Question Id : 54592724735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush geRTel X, ARl 15% Be W 3N fdiFHhe 25% T W
3Uced &1 ishole T MIEAT AT Withe & iged Hed
T 60% &1 Wi & TOhT Hod d Tihelc HT THT Hed

orde ufaera &7 &7

Options:

1. ¢ 0.32
2. = 0.34
3. % 0.29




4. = 0.25

Question Number : 92 Question Id : 54592724736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average marks of the students of a class decreased by two
marks, if the marks of a student excluded whose score is 52
marks. Instead, if a new student included who did not gave
the exam, the average marks would have decreased by six
marks. Find the initial average marks of all the students of
the class.

Options:

1. = 46
2. % 44
3. %43
4. v 42

Question Number : 92 Question Id : 54592724736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FdT w4 & @Er w1 AT 3k @ 3R T FH G ST g, IS
fordY BT & 3 & g1 &7 SI1ar & 99T ThIT 52 376 &l
=gk oy, Ife FS FIT ST afHe 8ar & g« gdier 8T
& &, ar 39T 3 BE 3R T FH & AT &1 FET F gAY
BHEN & IS 3Ed 3R AT RISV

1. = 46
2. = 44
3. % 43
4. v 42

Question Number : 93 Question Id : 54592724737 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

The average cost of 9 kg sugar, 8 kg rice and 1 kg tea is Rs.41.
The average cost of 9 kg sugar is Rs.37. The average cost of 8
kg rice is 35. Find the cost of 5 kg tea.

Options:

1. = Rs.450
2. » Rs.540
3. v Rs.625
4. » Rs.900

Question Number : 93 Question Id : 54592724737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9 ferelr <Yelr, 8 forell @M@ AR 1 fohell I T AT AT &.
41 1 9 Torell ell T 3T Hed €.37 &1 8 foholl TTael 1
T Her 535 §1 5 Tohell AT T HoF T IT @0

Options:

1. = %.450
2. % %540
3. v £625
4. = %.900

Question Number : 94 Question Id : 54592724738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a company XYZ Ltd, 160 employees in development
department and 40 employees in marketing department were
working. 40% of employees in development department and
25% employees in marketing department got fired. What
percentage of employees Is working in development
department now (approximately)?

Options:



1. v 0.762
2. % 0.586
3. =0823
4. = 0.644

Question Number : 94 Question Id : 54592724738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh aT XYZ Ltd &, [dhra @ & 160 fATRT 3R

Aot T # 40 FATRT &1H R 8 I e T & &
40% 3T f3uure f39meT & 25% hearar ot foshrer fear amm
3 (SereeT) fashrd faetmer & Tordel ufaerd sl 18 T 18

g7

Options:

1. v 0.762
2. = 0.586
3. = 0.823
4. = 0.644

Question Number : 95 Question Id : 54592724739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The percentages of defective products produced by a company
were 10%, and 9% during the year 2015 and 2016
respectively. The total number of defective products produced
during these two years together was 5200. Company produced
20% more product in 2016 than that of 2015. Find number of
products produced in 2016.

Options:

1. = 22000
2. » 24000



3. v 30000
4. = 36000

Question Number : 95 Question Id : 54592724739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TordT U G@RT 3carfdd SIvquT 3curel w7 uiderd 2015 3K
2016 & i A 10% 31T 9% 2T| <7 ar g9l & SR U
rer Searfee Sroyol Sedrel T kel Fedr 5200 off| Huer @
2015 &7 Jef=lm # 2016 # 20% 3{OF 3cUre T 3cures R |

2016 H 3c9Tied 3cUTar hr I&aT AT R

Options:

1. = 22000
2. = 24000
3. v 30000
4. = 36000

Question Number : 96 Question Id : 54592724740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three numbers p, q and r such that, 50% of p is equal to 30%
of q and 125% of q is equal to 45% of r. If 60% of r is 900, then
find the sum of p, qandr.

Options:

1.v 2364
2. % 2145
3. % 2275
4. = 2486

Question Number : 96 Question Id : 54592724740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



dieT e p, q 3T r dAT & TR, 50% p, q & 30% 3T 125%
q o e &, 45% r & se g1 Ifg 60% r 900 &, aT p, q
AT r &7 T AT HiiST

Options:

1. v 2364
2. = 2145
3. = 2275
4. = 2486

Question Number : 97 Question Id : 54592724741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two Products A and B are sold by a shopkeeper. A is sold for
15% profit and Its selling price equals the marked price of the
B, which 1s sold for 10% discount and 25% profit. Find the
profit percentage on selling both the products (approximately).

Options:

1. = 0.17
2. v 0.195
3. % 0.213
4. % 0.23

Question Number : 97 Question Id : 54592724741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

al 3cuie A 3R B UF gH@ER SdRT o Sid &1 A T 15%
o1 & folv 997 ST § 3R g8 fonT Aeg B & RIEAd
Hed & SNre @lar &, St 10% @ 3 25% et o folw s=r
SITaT &1 Sl 3cUTaT sl sdel I oTH Uiderd ST 9dT o9y
(GTITSTT) |

Options:




1. = 0.17

2. v 0.195
3. = 0.213
4. = 0.23

Question Number : 98 Question Id : 54592724742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By selling 224 apples a trader earns a profit of Rs.2688 and he
found that he made 12% profit. Find the total selling of 168
apples.

Options:

1. = Rs.17468
2. v Rs.18816
3. = Rs.18426
4. % Rs. 17258

Question Number : 98 Question Id : 54592724742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

224 TF ST O Uk SITIRT hl 5.2688 T o1 &idT & 3T
39a 9T ToF 3TeT 12% ot AT 168 8 hr el fSshT T
TaT oy |

Options:

1. = ®1/468
2. v ¥18816
3. = 18426
4. = ©17258

Question Number : 99 Question Id : 54592724743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Monday a shopkeeper sold a product at 30% discount.
Tuesday he sold another product of same kind at 20%
discount and earned Rs.180 more. On both the products he
earned a profit of 80%. Find cost price of each product.

Options:

1. » Rs.1500
2. » Rs.1800
3. = Rs.900
4. v Rs.750

Question Number : 99 Question Id : 54592724743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTHTT I THh GRTIER o 30% B W 3cUE S| HITel@R =l
38e 20% P& W 3T LG HT Teh 3 3curg &= 3T 5,180
MiUF FATC| ST Il W 3T 80% FT oM FHRIT| Tcdh

3cdTg T WAETT Hed AT HITeIv|

Options:

1. = %.1500
2. % %1800
3. = %.900
4. v %.750

Question Number : 100 Question Id : 54592724744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three years ago the ages of Harshal and Anvi were in the
ratio of 5 : 4, and six year hence the ratio of their ages will be
8 1 7. What is present age of Anvi?

Options:

1. » 12 years
2. v 15 years



3. = 18 years
4. = 9 years

Question Number : 100 Question Id : 54592724744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

<iTeT HTel Ygel g¥el 3 37edl HT 37 5: 4 & 3fe[urd # oY 3K
DE ATl F T1g, 3elchl 3H FT 3HeUld 8: 7 BRI TTATST H
3edl T 3H FAT &7

Options:

1. = 12 a¥
2. v 15 @y
3. » 18 a¥
4. = 9 ¥

Arithmetic Ability?2
Group Number : 6
Group Id: 5459271226
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 5459271226
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section I1d: 5459271470
Question Shuffling Allowed : Yes

Question Number : 101 Question 1d : 54592724745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three person Alok, Ankit and Archit shared some amount
among themselves in the ratio of 4 : 6 : 7. If Archit gives
Rs.400 to alok and Ankit gives Rs.300 to Alok, then the ratio of
amounts with Alok and Archit will be 3 : 4. Find the share of
Archit.

Options:

1. » Rs.4800
2. » Rs.5150
3. v Rs.5600
4. » Rs.5960

Question Number : 101 Question Id : 54592724745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

cilel oFTeh 3fTelleh, 3ifehd AT AT A 4 : 6 : 7. & 3fequd A
3OH H FHe AT ATHAT I 3P 3T 37T H 400 T
T & 3 3ifeRa ameler &Y 300 U 24T &, o el 3N
T & oI TR KT AT 3 @ 4 glom | iR &1 fgear s
g7

Options:

1. = %.4800
2. = 5150
3. v %.5600
4. = %.5960




Question Number : 102 Question Id : 54592724746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the third proportional to the numbers 3%= 4% and ZE :

Options:
12
1.v °
52
2.8 °
12
3. 4
12
4, % 3

Question Number : 102 Question 1d : 54592724746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& 3, 4- 3R 22 & fow ey snguifae & gar e

Options:

2
1. v

22
2. % °

=



Question Number : 103 Question Id : 54592724747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Raman invests a total of Rs.48600 in two schemes A and B.,
both of which offer interests which are compounded
annually. A offers 60% p.a. and B offers 40% p.a. If after 3
years the values of the two investments A and B are in the
ratio of 5 : 3 respectively, then what was the initial ratio of
the investments made in B and A?

Options:

1.+ 1536 : 1715
2. % 343 : 512
3. = 1283 : 1296
4. % 113 : 243

Question Number : 103 Question Id : 54592724747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THeT 21 ThAT A 3T B & el %.48600 T feider +Tar &, vl
THTH Tohglg ST (ATl SATST =T I0TAT) 3T &1 A 60%
ufa a¥ 3k B 40% wfa a¥ sarer 2 &1 3fg 3 ast & & A
3 B aal foideil 7 Aver shAer: 5 : 3 & 3fequrd A &, A B
I A A RU a0 fader 1 qRfES sfequrd F41 9r?

Options:

1. v 1536 : 1715
2. % 343 1 512
3. % 1283 : 1296




4. = 113 : 243

Question Number : 104 Question Id : 54592724748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man borrows Rs.15000 at 12% compound interest per
annum compounded half yearly. He pays back Rs.5400 at the
end of first six months. Calculate the second payment he has
to pay back at the end of the year in order to clear the entire
loan.

Options:

1. » Rs.9870
2. » Rs.8530
3.+ Rs.11130
4. » Rs.10500

Question Number : 104 Question 1d : 54592724748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh =g 12% i a¥ Iehgig sTTe ¢ ( SHTGT 0T .
15000 T 3UR ofdT &1 T8 Ugel &8 Haldl & 3T H %.5400
T 3Tl FIAT &1 G ROT FI Tl & foIT 37 a¥ & 3d A

EXshl 3ITCATeT Fla] BT

Options:

1. = & 98/0
2. = & 8530
3. v ®11130
4. = & 10500

Question Number : 105 Question 1d : 54592724749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Amit borrows Rs.12000 from Manoj on compound interest at
the rate of 8% per annum for two years. Manoj puts the
condition that the rate of interest for first year will be 8% and
for second year will be 10%. How much will the Amit have to
pay at the end of two years to clear his loan?

Options:

1. » Rs.13486
2. » Rs.16250
3. v Rs. 14256
4. % Rs.15802

Question Number : 105 Question 1d : 54592724749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & G & T 8% Wi a¥ 1 & & Thgig sTTel W
AdreT @ 12000 9T 3YR ofdT &1 Adlel I§ O IW&AT & TF
Ugel @y & eIV SIS HT & 8% glen 3N gat av & fow 10%
grir 31T Fr 3r9ar HOT F FER F AT Q& Grer F 3T A
EGGL 3ITCATT hll] L

Options:

1. = &.13486
2. = ®.16250
3. v ®.14256
4., = & 15802

Question Number : 106 Question Id : 54592724750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ajay travels from his house to his office. If he travelled at 8
kmph he would reach his office 5 minutes late. If he travelled
at 12 kmph he would reach his office 5 minutes earlier. Find
the distance between his house and his office (in kilometers).

Options:

1. = 12 km
2. % 24 km
3. v4km
4. = 6 km

Question Number : 106 Question Id : 54592724750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST 3T 8T O Ter AT ook ITAT FLaT &1 I T8 8
rET ufa g¢ T ITFAIR T JET HIAT dF 9§ e FEATT H 5
fAete &8 & sgTar &1 3fT a8 12 foar 9fq o #1 7R |
AT AT ar g8 5 THeC Ugel 3Te hrdTerd ‘-Ié'cl ST &
38 G AR 3a% FRarer (fretdes #) & & $r gl g
NI

Options:

1. = 12 TeraAT
2. = 24 foRaAT
3. v 4 fordAT
4. = 6 foraT

Question Number : 107 Question Id : 54592724751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A train is 20% faster than car. Both the train and car starts
from a point A and reaches point B at the same time which is
75km away from A. The Train halted for 12.5 mins at stations
in between. If the train is 25% faster than car, then how much
time will it take to reach the destination?

Options:

1. = 1 hour

2. » 1 hour 25 minutes
3.« 1 hour 12.5 minutes
4. = 1 hour 15 minutes

Question Number : 107 Question 1d : 54592724751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk ¢l R 8 20% A &1 goT AR FR 2=l fog A & <Telalr

QF@@'%WWW%@BWW?ET%%@A@
75 T AL ST &1 ¢of S H Terell T 12.5 fAee & folv &b
AT &7 FX T 25% ooT &, O IdeT I qéuﬁﬁ'ﬂ%%ﬁ

gHT oldf?

Options:

1. = 1 =T

2. = 1 gar 25 fAde
3. v 1 "er 12.5 fAae
4. = 1 ger 15 e

Question Number : 108 Question Id : 54592724752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The area of a square ground is 676 kmz. How long will it take
to run around at the speed of 13 km/h?

Options:



1. = 12 hours
2. = 10 hours
3. v 8 hours
4. = 6 hours

Question Number : 108 Question Id : 54592724752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk gaehIY HETel T &9%el 676 TIT AT &1 Hara & IRm
31 13 ToRAERT &1 aifa § 1 &Pl & FT AT i ?

Options:

1. = 12 €
2. = 10 =
3. v 8 T
4, = 6 T

Question Number : 109 Question Id : 54592724753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ten men can do a piece of work in 15 days. How many men
are needed to complete a, work which is five times as large as
the first one, in 10 days?

Options:

1. = 60
2.v 75
3. =70
4. % 83

Question Number : 109 Question Id : 54592724753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



15 feat # g =l forddt 1 & @ T T &1 39 1,
ST Ugel drol ‘cﬁrqjmm H U T S gL 10 faar # g
Fla o ToIT Tohdel STFAAT I 3TTLTRAT BIIT?

Options:

1. = 60
2. v 75
3. = 70
4. = 85

Question Number : 110 Question 1d : 54592724754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Due to leakage in a tank it would take half an hour longer
than usual time to full. Usual time to fill this tank is 3.5 hours.
If the tank is full of water, how long would it take to empty
itself if water starts leaking out at double the usual rate once
the tank is half empty?

Options:

1. = 14 hours
2. % 7T hours

3. v 21 hours
4. % 28 hours

Question Number : 110 Question Id : 54592724754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U & A NEE & FROT EF H [ #& H AT AT 8
3TYT g7 3T 39| 39 &b ol 3 o 1A 984T 3.5
d%%wﬁé?mﬁﬁmgm%amaﬁé?a:mw
glel & §1¢ UTell o AT & 8 9« & W REE giar &,
¢ Tohda THAT | HTell a7




Options:

1. = 14 &
2. = 7 TS
3. v 21 &
4. = 28 T

Question Number : 111 Question Id : 54592724755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A and B can complete a work in 20 days and 30 days
respectively. If they work on alternate days, then find the
number of days in which the work will be completed.

Options:

1. v 24 days
2. = 60 days
3. = 10 days
4. = 12 days

Question Number : 111 Question 1d : 54592724755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 3T B swaer: 20 fear 3w 30 f&al # v SR 11 T Fehd
gl Ffg I Gerfedss foall & FTH Fd &, dF 3a7 il $r @&
AT e ToIeTH HTH T & SAT9a|

Options:

1. v 24 &
2. % 60 faaT
3. % 10 fea
4, % 12 f&aT

Question Number : 112 Question Id : 54592724756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




A large sphere of surface area 2464 square cm is melted and
recast into three small spheres. If the radii of two of the three
spheres is 11 cm and 7 ¢cm respectively, then what is the
approximate surface area of the third sphere?

Options:

1. = 1285 sq.cm
2. % 1295 sg.cm
3. = 1305 sq.cm
4. v 1315 sg.cm

Question Number : 112 Question Id : 54592724756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2464 37 QAT YOI &Tel T Ush §3T dilell TERT ST &
AT JiT @I Mer H arer SA1ar &1 I JAr AT A & g Fr
BT waer 11 @A 3w 7 aAL & ar Y e & T
AT JET &l Tthel fohclell &7

Options:

1. = 1285 g @A
2. = 1295 g3t @Y.
3. = 1305 g3t @AY
4. v 1315 g3t @Y.

Question Number : 113 Question Id : 54592724757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the base of a parallelogram is 9 cm and the height of the
parallelogram is 6 cm, find the area of the parallelogram.

Options:

1. v 54 sq.cm.
2. » 60 sg.cm.



3. % 65 sg.cm.
4. = 70 sg.cm.

Question Number : 113 Question Id : 54592724757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT FATR TSt T 3R 9 QAT & 30 FATA Tceist HT
315 6 TAT §, A TATAL IS KT &l AT HIAT|

Options:

1. v 54 3T QAT
2. = 60 T3t @AY
3. = 65 T HAT
4. = 70 T AAT

Question Number : 114 Question Id : 54592724758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of a rectangular plot is 30% more than its breadth.
If the difference between the length and breadth is 12 m,
then, the area of the rectangle is:

Options:

1. v 2080 sq m.
2. % 2160 sq m.
3. = 2744 sq m.
4. % 2000 sq m.

Question Number : 114 Question Id : 54592724758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh AR HES HT ol @ AsTs & 30% 31faF &l
I ems 3T e & =T F T AT 12 AT &, ar O,
HATRR TS T &6 AT hITeiT|

Options:




1. v 2080 T3t #T.
2. = 2160 g3t #T.
3. = 2744 73t #T.
4. = 2000 g9t #.

Question Number : 115 Question Id : 54592724759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Study the following graph carefully to answer these questions:

Graph shows the distribution of 120 parliamentary
constituencies in different states.

Larc )

Find the total number of seats in states P and R.

Options:

1. = 60
2. % 50
3.~ 66
4, %75

Question Number : 115 Question Id : 54592724759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafeali@d weal T 3 &1 & oI Fau=gas I FT

eI hi

=T aT I e oAt & 120 ey ae 89 &'
22T &

Larc )

WPWRﬁ?ﬁﬁEﬁF?M T&IT ATT FL |

Options:

1. = 60
2. = 50
3. v 66
4. = 75

Question Number : 116 Question Id : 54592724760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following table carefully to answer these questions:

Number of Male and Female participating in a Function from
five different cities A, B, C, D and E

State Male | Female
A 600 250
B 400 515
e 325 375
D 300 800
E 450 750

What is the respective ratio of the total number of male
participating in the Function from cities D and E together to
the total number of female participating in the Function from
cities A and B together?

Options:

1. = 47 :59
2.v 150 :153
3.%34:23
4. % 147 : 132

Question Number : 116 Question 1d : 54592724760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafaf@a deall &1 3ca¥ &ot & v aEuEiyEas fAeafafd

JTTeIRT T 3TeTTT FHi-

o= [afea e A, B, C, D 3W E & U+ ARG A oA &
@ T 3T Afger Fr w@em

U | 9e9 | Afger
A 600 250
B 400 515
C 325 375
D 300 200
E 450 750

e D AR E & HANE A Nffer Fol TEY I TEAT TFAT A8
A 3R B & GANIE A offe AT T AT FT FAM: 3Hefdld
T &7

Options:

1. = 47 : 59
2. v 150 : 153
3. % 34 : 23
4. = 147 : 132

Question Number : 117 Question Id : 54592724761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following pie charts carefully to answer the
questions.

Pie chart shows the no. of employees working in various
departments of an organization.

Total Number of Employees = 5000

Pie-Chart

—-..‘_‘-_-.

What is the respective ratio of the number of employee
working in the HR department and the number of employee
working in the IT department?

Options:

1.=1:
2.v 7.
3.% 3
4, % 2.

(R b B B

Question Number : 117 Question Id : 54592724761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArI&T wesll &7 3caT 3o & foiv Meafei@d s e &1

AT Yaeh 3TeTel |

qrs dTc [aTeed [THmN 7 F1H L arel FHAATRAT o6 Jiaerd
Hr gerfar &

FHATIAT <hT Fo T&IT = 5000

Pie-Chart

ATeld AT TOHET H FTH e dTell FHTRT sl TEIT AT
IEST TTHET H FTH Fla dTol FHTANRT hl TEAT hT hHT:

3eIuT AT &7

Options:

1. = 1:5
2. v ] :6
5
9

3. % 3
4, = 2 :

Question Number : 118 Question Id : 54592724762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer the questions.

Bar graph represents the Percentage of employees working in
various departments of an organization.

Total Number of Employees = 9000

30.00%

Production,
26.00%

25008

IT, 21.00%

Accounts,
15.00%

20,008 HR, 18%

17.00%

15.00% -

10,008 A

5.00% A

0.00% -
Production HR m Marketing  Accounts

What is the number of employee working in the Marketing
department?

Options:

1. = 960

2. % 1450
3.+ 1530
4. % 1250

Question Number : 118 Question Id : 54592724762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frafeRaT weat &7 3T 3 & Tolv eoli@d ITH &

AT Yaeh 3TeTel |

I I AffeeT THPN & FTH e grel FATTAT & TTaerd
S geiar § 3R,

FHATIAT <hT Fo T&IT = 9000

30.00% =l LR

25008 -

200082

15000 -

10.00% -

5.00% -

0.00% -

Aot [THET A FTH o gl FHIANT hT JEAT ThdaT &7

Options:

1. = 960
2. = 1450
3. v 1530
4. = 1250

Question Number : 119 Question Id : 54592724763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer these questions:

Percentage wise Distribution of faculty in different
Departments.
Total number of Faculties = 7200

Percentage of Faculties

30%

Management,
25%

25%

Engineering,

20%%

chitecture,
15%

15%

Education, 12%
10%

5%

Engineering Education Manage ment Architecture

Total number of Faculties in Engineering is what percent of
total number of faculties of management?

Options:

1. = 25%
2. % 60%
3. v 80%
4. % 75%

Question Number : 119 Question Id : 54592724763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafeali@d weal T 3 &1 & oI Fau=gas I FT

eI |

At TTaeT 7 Regsr &1 giaera [avor
ﬁT&ﬂﬁ'ﬁ'Eﬁl'ghol T&aT = 7200

DGEICIR IGE G

30%

25%

2084

15%

10%

5%

=

sifagTiyehT & Rrereht k1 Fel TEAT Youa A RaThi 1 Fel
&I T fohaar ufaera &7

‘Ip. « 25%
2. = 60%
3. v 80%
4. = 75%

Question Number : 120 Question Id : 54592724764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer these questions:

The runs scored by 2 teams in a series of 5 different cricket
matches.

® Australia = India

400

350
350
300
300
250 25
250
2 200
200
150
150 -+
00 1 00
100
50 -
ﬂ ] T T

Match-1 Match-1I  Match-11 Match-1V Match-V

What is the ratio between the number of runs scored by
Australia in match II and IV to that by India in match IV and
V?

Options:

1. 1:2
2.% 21
3.x3:1
1. +1:1

Question Number : 120 Question Id : 54592724764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fAraATaT geall T 3cca et & folv ATaumiigash I T

eI |

Uk ATl & 5 [Affea fohdhe AT # 2 8T SaRT TR R
IR T&Al T GE&AT|

" teefoar " HRA
400
350

300
250
200
150 -
100 -
sq

0

-1

Eiﬁﬂ'lilﬁﬂ'wﬁﬂ'v

HT | 3T IV # TR ZarT T T 9 Tl 1 J&ar
A HT IV RV A ART GanT TR RS IR & hr JeT

& ST hA: GCRICEES] a7

Options:
1. = 1 : 2
2. % 2 11
3. % 3 11
4. v 1 : 1
General English1
Group Number : 7

Group Id: 5459271227



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 5459271227

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271471
Question Shuffling Allowed : Yes

Question Number : 121 Question 1d : 54592724765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Many kids today are well aware that Pluto use to be
considered a planet.

Options:

1. = Many kids today

2. = are well aware

3. v that Pluto use to be
4. = considered a planet.

Question Number : 121 Question Id : 54592724765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

Many kids today are well aware that Pluto use to be

considered a planet.

Options:

1. = Many kids today

2. = are well aware

3. v that Pluto use to be
4.

= considered a planet.

Question Number : 122 Question 1d : 54592724766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Thanks to our core, Earth is wrapped in a magnetic sheath
that protected the planet from harmful radiation.

Options:

1. = Thanks to our dynamic core,

2. = Earth is wrapped In a magnetic
3. v sheath that protected the planet
4. = from harmful radiation.

Question Number : 122 Question 1d : 54592724766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

Thanks to our core, Earth i1s wrapped in a magnetic sheath

that protected the planet from harmful radiation.

Options:

1. = Thanks to our dynamic core,
2. » Earth 1s wrapped In a magnetic
3. v sheath that protected the planet

4. = from harmful radiation.

Question Number : 123 Question Id : 54592724767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Self-care, which mostly happen outside the formal health
system, is nothing new.

Options:

1. = Self-care, which mostly
2. v happen outside the

3. = formal health system
4. = 1S nothing new.



Question Number : 123 Question 1d : 54592724767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the segment in the sentence which contains the

grammatical error from the given options.

Self-care, which mostly happen outside the formal health

system, 1S nothing new.

Options:

1. = Self-care, which mostly
2. v happen outside the

3. = formal health system
4

. % 1S nothing new.

Question Number : 124 Question Id : 54592724768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

According to the WHO, over 400 million people across the
world lack access for essential health services.

Options:

1. » According to the WHO,
2. = over 400 million people across the world



3. v lack access for
4. = essential health services.

Question Number : 124 Question Id : 54592724768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the segment in the sentence which contains the

grammatical error from the given options.

According to the WHO, over 400 million people across the

world lack access for essential health services.

Options:

1. = According to the WHO,
2. = over 400 million people across the world
3. v lack access for

4. = essential health services.

Question Number : 125 Question 1d : 54592724769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

The Silver Royal Butterfly is a very rare species that we have
spot once in 2016, and again now.

Options:

1. = The Silver Royal Butterfly
2. = 1S @ very rare species



3. v that we have spot
4. = once In 2016, and again now.

Question Number : 125 Question Id : 54592724769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the segment in the sentence which contains the

grammatical error from the given options.

The Silver Royal Butterfly 1s a very rare species that we

have spot once In 2016, and again now.

Options:

1. = The Silver Royal Butterfly
2. % IS a Very rare species

3. v that we have spot
4.

x once In 2016, and again now.

Question Number : 126 Question Id : 54592724770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Global warming is like have being in a mine field that gets
progressively more dangerous.

Options:

1. = been in a mine field
2. v being in a mine field



3. # be In a mine field
4. = No substitution required

Question Number : 126 Question Id : 54592724770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

Global warming i1s like have being in a mine field that gets

progressively more dangerous.

Options:

1. = been in a mine field
2. v being In a mine field
3. = be In a mine field

4. = No substitution required

Question Number : 127 Question 1d : 54592724771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Most carpet aren’t make from natural fibers, it’'s made from
synthetic materials such as nylon or polyester.

Options:



1. » do not make from

2. v 1sn’t made from

3. = are make from

4. = No substitution required

Question Number : 127 Question Id : 54592724771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

Most carpet aren’t make from natural fibers, it's made from

synthetic materials such as nylon or polyester.

Options:

1. = do not make from
2. ¢ Isn’t made from
3. = are make from

4. = No substitution required

Question Number : 128 Question Id : 54592724772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The Central Railway has decided to run local trains in limited
corridors as for water logging on the railway tracks.

Options:

1. = because water logging in

2. = In spite of water logging on
3. v due to water logging on

4. = No substitution required

Question Number : 128 Question 1d : 54592724772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

The Central Railway has decided to run local trains in

limited corridors as for water logging on the railway tracks.

Options:

1. = because water logging In
2. = In spite of water logging on

3. v due to water logging on



4. = No substitution required

Question Number : 129 Question Id : 54592724773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Turkey, with a population of more than 80 million, now hosts
the largest refugee population in the world.

Options:

1. = host the larger

2. = host largest
3. = hosting the larger
4. v No substitution required

Question Number : 129 Question Id : 54592724773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required.

Turkey, with a population of more than 80 million, now

hosts the largest refugee population in the world.

Options:

1. = host the larger
2. = host largest
3. ® hosting the larger

4. v No substitution required



Question Number : 130 Question 1d : 54592724774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Cutlery can took century to break down naturally, giving the
plastic waste ample time to work its way into the
environment.

Options:

1. v take centuries to break down
2. = taking century to break

3. = took centuries to break off

4. = No substitution required

Question Number : 130 Question Id : 54592724774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required.

Cutlery can took century to break down naturally, giving the
plastic waste ample time to work its way Into the

environment.

Options:

1. v take centuries to break down



2. % taking century to break
3. = took centuries to break off

4, = No substitution required

Question Number : 131 Question Id : 54592724775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

a total solar eclipse, the moon passes in front of the
sun and casts its shadow on the Earth.

Options:

1. v During
2. » While
3. = In case
4. = When

Question Number : 131 Question Id : 54592724775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

a total solar eclipse, the moon passes in front of

the sun and casts its shadow on the Earth.

Options:

1. v During
2. = While

3. % |n case



4. = When

Question Number : 132 Question Id : 54592724776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Economic growth is high on the agenda of the government
and various reforms are being

Options:

1. = undertake
2. v undertaken
3. = undertook
4. = undertaking

Question Number : 132 Question 1d : 54592724776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Economic growth 1s high on the agenda of the government

and various reforms are being

Options:

1. = undertake
2. v undertaken
3. ® undertook

4. % undertaking

Question Number : 133 Question Id : 54592724777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

Letter writing is nearly forgotten as an activity and of those
who claim to still write them, we speak wonder.

Options:

1. = of
2. % at
3. v with
4. = In

Question Number : 133 Question Id : 54592724777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Letter writing Is nearly forgotten as an activity and of those

who claim to still write them, we speak wonder.

Options:

1. = of
2. = at
3. v with

4. = In

Question Number : 134 Question Id : 54592724778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

Some frogs are able to grow bigger heads and fangs, which
enable them to eat their Kin and grow

Options:

1. = fast

2. v faster

3. = fastest

4. = more faster

Question Number : 134 Question Id : 54592724778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Some frogs are able to grow bigger heads and fangs, which

enable them to eat their kin and grow

Options:

1. = fast
2. v faster
3. = fastest
4.

% more faster

Question Number : 135 Question Id : 54592724779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

The Asian arowana, also known as the dragon fish, is believed
the Chinese to bring good luck and prosperity.

Options:

1. v by
2. % 1n
3. = to be
4. = with

Question Number : 135 Question 1d : 54592724779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The Asian arowana, also known as the dragon fish, Is

believed the Chinese to bring good luck and

prosperity.

Options:

1. v by
2. % 1n

3. * to be
4. = with

Question Number : 136 Question Id : 54592724780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

studying at the University of Colima, I began
exploring Mexico, crossing the country several times by bus.

Options:

1. = As

2. v While
3. = During
4, = Since

Question Number : 136 Question Id : 54592724780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

studying at the University of Colima, | began

exploring Mexico, crossing the country several times by bus.

Options:

1. = As
2. v While
3. = During

4. = Since

Question Number : 137 Question Id : 54592724781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

Jellyfish were previously thought to be a dead end for the
food web their low nutritional content.

Options:

1. » as with

2. % ever since
3.vdueto

4. = as of

Question Number : 137 Question 1d : 54592724781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Jellyfish were previously thought to be a dead end for the

food web their low nutritional content.

Options:

1. = as with
2. % ever since
3. v due to

4. = as of

Question Number : 138 Question Id : 54592724782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

Some species of penguins are also adapting to jellies as an
alternative source food.

Options:

1. = 10
2. v of
3. = by
4. = for

Question Number : 138 Question 1d : 54592724782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Some species of penguins are also adapting to jellies as an

alternative source food.

Options:

1. = to
2. v of
3. ® by
4. = for

Question Number : 139 Question Id : 54592724783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: Today, as he performs an average of 140 shows every year,
he balances a passion for work with a desire to get out and
explore every city he visits.

B: To Ali Shirazinia, identity has more to do with spirit than
ethnicity or geography.

C: After immigrating to the United States from Iran as a small
child, Ali learned how to make personal and cultural
connections through the universal language of music.

D: Known the world over as Dubfire, All brings a global
perspective to his work as a celebrated, award-winning
musician, house and techno DJ and producer.

Options:

1. v BDCA
2. » BDAC
3. = BCDA
4. = BCAD

Question Number : 139 Question Id : 54592724783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: Today, as he performs an average of 140 shows every
year, he balances a passion for work with a desire to get
out and explore every city he visits.

B: To Al Shirazinia, identity has more to do with spirnt than
ethnicity or geography.

C: After immigrating to the United States from lran as a
small child, Ali learned how to make personal and cultural
connections through the universal language of music.

D: Known the world over as Dubfire, Ali brings a global
perspective to his work as a celebrated, award-winning

musician, house and techno DJ and producer.

Options:

1. v BDCA
2. = BDAC
3. = BCDA
4. = BCAD

Question Number : 140 Question 1d : 54592724784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has four parts, rearrange the given parts so as to
form a meaningful sentence.

A: on Wednesday morning with public transport

B: resuming services after torrential rains,

C: India’s financial capital Mumbai, limped back to normalcy
D: that lashed the city, subsided.

Options:

1. « CDAB
2. v CABD
3. = CBAD
4. = CDBA

Question Number : 140 Question Id : 54592724784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has four parts, rearrange the given parts so as

to form a meaningful sentence.

A: on Wednesday morning with public transport

B: resuming services after torrential rains,

C: India’s financial capital Mumbal, limped back to normalcy
D: that lashed the city, subsided.

Options:

1. = CDAB
2. v CABD
3. = CBAD
4. = CDBA
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Question Number : 141 Question Id : 54592724785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: Bangladesh, meanwhile, bid farewell to its last-four hopes.
B: The victory propelled India to 13 points, just behind
current topper Australia.

C: Oscillating between clear skies and a canopy of clouds,
Virat Kohli’s men defeated Bangladesh by 28 runs to register
their sixth triumph.

D: The Men in Blue secured their tryst with the World Cup
semifinal.

Options:

1. = DCAB
2. = BADC
3. v DCBA
4. = BACD

Question Number : 141 Question 1d : 54592724785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: Bangladesh, meanwhile, bid farewell to its last-four hopes.
B: The victory propelled India to 13 points, just behind
current topper Australia.

C: Osclllating between clear skies and a canopy of clouds,
Virat Kohli's men defeated Bangladesh by 28 runs to
register their sixth triumph.

D: The Men In Blue secured their tryst with the World Cup

semifinal.

Options:

1. = DCAB
2. = BADC
3. v DCBA
4. = BACD

Question Number : 142 Question Id : 54592724786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Hazardous

Options:

1. v Risky
2. » Noted



3. » Laughable
4. = Involved

Question Number : 142 Question Id : 54592724786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Hazardous

Options:

1. v Risky
2. » Noted
3. = Laughable

4. = |nvolved

Question Number : 143 Question Id : 54592724787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Conceal

Options:

1. = Shrink
2. v Unwrap
3. = Absorb
4. = Jccupy

Question Number : 143 Question Id : 54592724787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the antonym of the given word.

Conceal

Options:

1. = Shrink
2. v Unwrap
3. = Absorb
4. = Occupy

Question Number : 144 Question Id : 54592724788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Intrepid

Options:

1. = Aesthetic
2. * Rotten

3. v Fearless
4. = Detached

Question Number : 144 Question Id : 54592724788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Intrepid

Options:

1. = Aesthetic



2. = Rotten

3. v Fearless

4. = Detached

Question Number : 145 Question 1d : 54592724789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Outrageous

Options:

1. v Pleasing
2. = Shocking
3. = Peculiar
4. = Insane

Question Number : 145 Question 1d : 54592724789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Outrageous

Options:

1. v Pleasing
2. * Shocking
3. = Peculiar

4. = |nsane

Question Number : 146 Question Id : 54592724790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the synonym of the given word.

Wrathful

Options:

1. = Imperfect
2. v Enraged
3. = Originate
4. = Sulitable

Question Number : 146 Question Id : 54592724790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Wrathful

Options:

1. = Imperfect
2. v Enraged
3. = Originate
4. = Suitable

Question Number : 147 Question Id : 54592724791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Definitly



2. » Influential
3. » Grateful
4. = Noticeable

Question Number : 147 Question Id : 54592724791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Definitly
2. = |nfluential

3. ® (Qrateful

4. = Noticeable

Question Number : 148 Question Id : 54592724792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. Compatible
2. Maintenance
3. Calendar

4. Referred

Question Number : 148 Question Id : 54592724792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the wrongly spelt word.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. Compatible
2. Maintenance
3. Calendar
4. Referred

Question Number : 149 Question Id : 54592724793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Righteous
2. = Versatile
3. v Prepration
4. = Privilege

Question Number : 149 Question 1d : 54592724793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Righteous



2. » Versatile
3. v Prepration
4, = Privilege

Question Number : 150 Question 1d : 54592724794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

A hot potato

Options:

1. v A controversial issue
2. = Very popular

3. = Lacking seriousness
4. = Careless

Question Number : 150 Question Id : 54592724794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

A hot potato

Options:

1. v A controversial Issue
2. * Very popular
3. #» Lacking seriousness

4. = Careless

Question Number : 151 Question Id : 54592724795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the meaning of the given idiom.

A sea change

Options:

1. * Having no impact

2. v Complete transformation
3. » A minute change

4. = Blue in appearance

Question Number : 151 Question 1d : 54592724795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

A sea change

Options:

1. * Having no impact
2. v Complete transformation
3. = A minute change

4. = Blue In appearance

Question Number : 152 Question Id : 54592724796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the meaning of the given idiom.

Across the board

Options:

1. = Different from others
2. » On the other side

3. v Impacting every part
4. = Lacking originality

Question Number : 152 Question Id : 54592724796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Across the board

Options:

1. = Different from others
2. = On the other side
3. v Impacting every part
4. = Lacking originality

Question Number : 153 Question Id : 54592724797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A collection of historical documents or records

Options:



1. v Archive
2. » Black box
3. = Canon

4. = Fauna

Question Number : 153 Question Id : 54592724797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

A collection of historical documents or records

Options:

1. v Archive
2. = Black box
3. & Canon

4. = Fauna

Question Number : 154 Question Id : 54592724798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
givern.

An animal that feeds on other animals.

Options:

1. * Herbivore
2. v {Carnivore



3. « Omnivore
4. = Mammal

Question Number : 154 Question Id : 54592724798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

An animal that feeds on other animals.

Options:

1. = Herbivore
2. v Carnivore
3. * Omnivore

4. = Mammal

Question Number : 155 Question Id : 54592724799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

Spoken or done without preparation.

Options:

1. = Wizard

2. = Incognito
3. v EXtempore
4. = Interjection



Question Number : 155 Question 1d : 54592724799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

Spoken or done without preparation.

Options:

1. = Wizard
2. * Incognito
3. v Extempore

4. = Interjection

Sub-Section Number: 2
Sub-Section Id: 5459271473
Question Shuffling Allowed : Yes

Question Id : 54592724800 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Answer the questions based on the following passage.

Although technology is finally being integrated into
education, its use for teaching and learning still remains a
challenge. Despite the fact that many schools today are
privileged to have ready access to technology, trained
teachers, and a favourable policy environment, the use of
technology in the classroom is still low.

With that said, the potential of technology to enhance
learning cannot be overemphasized. The use of technology is
something that started a long time ago for students with
special needs. For example, brail machines have been utilized
for the visually impaired. In addition, special needs programs
that help children with autism use technology to enhance
learning. By integrating technology into education, educators
aim to engender pedagogical change and address
fundamental issues that affect learners with special needs.

Today, technologies used to improve and facilitate learning
can be found everywhere. Leaving other contextual factors to
the side — such as unequal access to technological innovations
and connected technologies across schools and districts — we
can only say that we have embraced technology in education
when it is used for both teaching and learning. With the
incorporation of technology into schools, the main purpose is
to change how teachers and students gather, access, analyse,
present and transmit information.

QOverall, technology is central to many sectors of society and
its integration into the education process has great promise
for student learning. With technology, one can expect
increased efficiency and effectiveness on both the part of
teachers and students. Technology can also prompt
pedagogical change and address issues that affect learning,
teaching and social organization. Technology can therefore he
seen as both a tool and a catalyst for change. Students should
embrace technology for them to benefit and teachers should
be open to introducing technology into the classroom to
improve and innovate their teaching practice.



Sub questions

Question Number : 156 Question Id : 54592724801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The main concern of the author in the given passage is:

Options:

1. v Role of technology in the education process.
2. * Teaching and learning process

3. * Fundamental issues affecting education.

4. = Technological innovations

Question Number : 157 Question Id : 54592724802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why does the author state that the role of technology to
enhance learning can’t be overemphasized?

Options:

1. = Technological use only has its merits.
2. v The use of technology in the classroom is still low.

3. » The potential of technology in the education is not very
promising.

4. = The use of technology in teaching and learning is a
challenge.

Question Number : 158 Question Id : 54592724803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The author quotes the example of ‘brail machines’ to
highlight the following point:

Options:

1. = The potential of technology.
2. * The need to address immediate issues in technology.



3. v The use of technology was basically meant for students
with special needs.

4. = Unequal access to technological use.

Question Number : 159 Question Id : 54592724804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the main purpose behind incorporation of technology
into schools?

Options:

1. = To improve access to technology
2. = To create a favorable policy for education
3. » To address fundamental issues related to technology.

4. v To change the way teachers and students gather, access,
analyse, present and transmit information.

Question Number : 160 Question Id : 54592724805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How is technology seen both as a tool and a catalyst for
change?

Options:
1. v Use of technology in education leads to increased
efficiency and also affects a pedagogical change.

2. = Technologies use to improve and facilitate learning
3. » Improved access to education
4. = It helps in innovating teaching practices.

Question Id : 54592724800 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Question Label : Comprehension



Answer the questions based on the following passage.

Although technology is finally being integrated into education,
its use for teaching and learning still remains a challenge.
Despite the fact that many schools today are privileged to
have ready access to technology, trained teachers, and a
favourable policy environment, the use of technology in the

classroom is still low.

With that said, the potential of technology to enhance
learning cannot be overemphasized. The use of technology
iIs something that started a long time ago for students with
special needs. For example, brail machines have been
utilized for the visually impaired. In addition, special needs
programs that help children with autism use technology to
enhance learning. By integrating technology into education,
educators aim to engender pedagogical change and address

fundamental issues that affect learners with special needs.

Today, technologies used to improve and facilitate learning
can be found everywhere. Leaving other contextual factors
to the side - such as unequal access to technological
innovations and connected technologies across schools and
districts - we can only say that we have embraced
technology in education when it is used for both teaching
and learning. With the incorporation of technology into
schools, the main purpose is to change how teachers and
students gather, access, analyse, present and transmit

information.

Overall, technology is central to many sectors of society
and its integration into the education process has great
promise for student learning. With technology, one can
expect increased efficiency and effectiveness on both the
part of teachers and students. Technology can also prompt
pedagogical change and address issues that affect learning,
teaching and social organization. Technology can therefore
be seen as both a tool and a catalyst for change. Students
should embrace technology for them to benefit and teachers
should be open to introducing technology into the classroom

to improve and innovate their teaching practice.



Sub questions

Question Number : 156 Question Id : 54592724801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The main concern of the author Iin the given passage Is:

Options:

1. v Role of technology In the education process.
2. » Teaching and learning process
3. *» Fundamental 1ssues affecting education.

4. = Technological innovations

Question Number : 157 Question Id : 54592724802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why does the author state that the role of technology to

enhance learning can’t be overemphasized?

Options:

1. = Technological use only has its merits.

2. v The use of technology In the classroom is still low.

3. = The potential of technology In the education iIs not very
promising.
4. = The use of technology In teaching and learning I1s a

challenge.

Question Number : 158 Question Id : 54592724803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The author quotes the example of ‘brall machines’ to

highlight the following point:

Options:



1. = The potential of technology.
2. = The need to address immediate Issues In technology.

3. v The use of technology was basically meant for

students with special needs.

4. = Unequal access to technological use.

Question Number : 159 Question Id : 54592724804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the main purpose behind incorporation of technology

into schools?

Options:

1. = To improve access to technology
2. » To create a favorable policy for education
3. = To address fundamental issues related to technology.

4, v To change the way teachers and students gather,

access, analyse, present and transmit information.

Question Number : 160 Question Id : 54592724805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How Is technology seen both as a tool and a catalyst for

change?

Options:

1. v Use of technology in education leads to increased

efficiency and also affects a pedagogical change.



2. » Technologies use to improve and facilitate

3. = Improved access to education

4, = [t helps In Innovating teaching practices.
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Question Number : 161 Question Id : 54592724806 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

T Sl # & 3MTe] Uqdd & & e & o1 Al

Options:

1. » GGl
2. * DTS

3. % AT

learning



4. v ST

Question Number : 161 Question 1d : 54592724806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foieT efsal H & 3Te] Wedd ¥ §of M5 T AT i

Options:

1. = HHITl
D

2. * hHAS
3. % Taildr
4. v FAITSTe]

Question Number : 162 Question Id : 54592724807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAHATCl G # 9 <hI--9T Uec; qFSI T T IS 572

Options:
1. = 3¢
2. » WgTy

3. v dUAd

4. % TG

Question Number : 162 Question Id : 54592724807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed § O HIT-TT UsE cTolel T T 3ETEL0T &7

Options:

1. % 3eg
x HEMW

2.
3. v §9dd
4.

% gl

Question Number : 163 Question Id : 54592724808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



I GHTY  UgelT S9[E, 3@ g & AT WTH §IdT g agl Hie-9T JAE

g &2

Options:

1. v AT TATH

Question Number : 163 Question Id : 54592724808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o gA™T # UgdT o 3759 &la o 1Y Tl &iaT & Jar
leT-AT TATH &Il &7

Options:

1. v RTHE TA™E
2. % FIFFI:WW

3. » qdeq HAMN
4, = agﬁ‘l‘i%‘ gAY

Question Number : 164 Question Id : 54592724809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAHATCI T el § & Todd S DT AT DI

Options:

1. = A
2.v @
3. % SEmg
4. = TU5

Question Number : 164 Question Id : 54592724809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fraleRaT eeal # @ TET 958 T T HITl0|

Options:




ol
#®
%

c

Question Number : 165 Question 1d : 54592724810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAHATel G # ¥ lN-9T LIec, [EeTcd HelvH 0T Iqad JT0 &l UeC 57

Options:

1.vH®

2. % q
3. % qu
4. % ag

Question Number : 165 Question Id : 54592724810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeITela # & Sia-a1 sg ERAEIEED oA Pl ScdA TEY
T <TeE &7

Options:

1. v &
2. . d

o,

3. » dH
Ba
4. = dg
Question Number : 166 Question 1d : 54592724811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T § & Y S DT agT Dl

Options:

1. » geArast
2. % GellleAt




3. v gelleHT
4. » A=

Question Number : 166 Question 1d : 54592724811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el Eag & & g e T TG |

Options:

2.
3. v golldal
4.

Question Number : 167 Question Id : 54592724812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel G # & lF-9T S a1y & TIrdard! Tgi §?

1. = 3ol
2. % A

3. % gar
4. v 36T

Question Number : 167 Question Id : 54592724812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArAaZT & & FiF-A7 o5g T FT IO el &7

Options:

1. = 3fael
2. * AR
3. = gar

4. v 3ol

Question Number : 168 Question 1d : 54592724813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



THHATCI T # § ehI--9T e GeaIrd T Tl e 57

Options:

1. » Ty
2. % gAY
3. % IIgAR
4. v THTY

Question Number : 168 Question Id : 54592724813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Trafel=T # O Hia-a1 e Tare &1 delld g §7

Options:

1. = [Aww
2. = AL
3. = 31@hI
4. v 9THTT

Question Number : 169 Question 1d : 54592724814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel T # ¥ @ A, DT DT A DT AT DI

Options:
1. v gt B g3
2. % I

3. % I
4. « g

Question Number : 169 Question Id : 54592724814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFII@T & 8 S 25 T ahradl o FT TITT hIoIT|

Options:

1. v g1l &7 g8
2. % hlad




3. » gl
4. % AT

Question Number : 170 Question 1d : 54592724815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THESr eTpaTer o Tl & MY fereme(ul # ¥ IUDd <[, Tl
TepdT STV e gich ERT AT 14T D]

Options:

1. = 3MMELT
2. % 3IAT
3. % T

4. v 3T

Question Number : 170 Question Id : 54592724815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forder arerarer & T QU a0 fashedl & & 3uYFA e GfAT|

Trdll 3ol eafehd ST fear a:m S|

Options:

1. = 3Teer
2. AL
3. = foider
4. v HTAT

Question Number : 171 Question Id : 54592724816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TAHATeTId # & DIT-9T A, ZIH Teruid 0T aTell 572

Options:

1. » a{@:ﬂu-rr
2. = Ed-aId



3. = SUAT-LW
4. v JTT-UET

Question Number : 171 Question 1d : 54592724816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeli@d A @ Fla-ar ereg oA faudid 701 arer g7

Options:

1. = $TE-F9Ta
B o

ol

2. % Sd-gid
3. » $SAT-@Y
4. v MTET-9T4AT

Question Number : 172 Question Id : 54592724817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATLITATT T QTTeed 37ef gl

Options:

1. v ST 3MT2T ¥ TGP g1
2. % ST SIS & €T gl
3. = SV T 3ITAT T 714

4, = ST 3TST T 36T 7T

Question Number : 172 Question Id : 54592724817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T T omfsaer 317 &

Options:

1. ¢ ST 32T & §ghT &l
2. = S TR & & &
3. % ST SRl 3T T HATa
4, = ST 3T & eIl &

Question Number : 173 Question 1d : 54592724818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



o SIe[e; SIT 318 JYg T 3 Tohq H w1er quue gt gid 378 NE
Pgd gl

Options:
1. » THHTUT JTHTIE e
2. % TYTA ST
3. % ®YTA SEC

4. v T U9

Question Number : 173 Question Id : 54592724818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

d ereg S 376 THE o & T Toledt s1a Tuse @igh 8ld 392
eTec, had o

Options:

1. % TaHETOT 3R ersg
2. % FUTedL0T TR

3. ® FTecdL Ul <Tsq

4. v oRIF e

Question Number : 174 Question Id : 54592724819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T H 9 Tchd FTe[cl QTeS T ITEIU g7

Options:

1. » TV IAR alel GHTYT ZIH
2. % JMALID Y ATl ZIH UeC,

3. * T JIH <
4. v T 0T T &TET DT el ZIH e

Question Number : 174 Question Id : 54592724819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEOT foreeT I O TR aTeer oeg T 3ETEI0T £7

Options:




« T9eaT 3TIROT arel TATaTAT IIH
* 3Eeder qid arel IIA <T5E

d
® ‘go'l{lt%rd '?:-ID H <Tsq

ol

v uia 0T T STel e dTel IIH e

Question Number : 175 Question 1d : 54592724820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"JURT hl AT ATAT" th Telq JUGRd <IE[C, Dl ad el

Options:

1. * e
2. % Y@
3. = THAI
4. v pdsl

Question Number : 175 Question Id : 54592724820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"IURT hT HTeTa drell” & TolT 3YYFT e T |

Options:

1. * Fces
2. % 3URNT
3. = THERHT
4. v FdA

Question Number : 176 Question Id : 54592724821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATCl T # DIF-9T e ATl T 572

Options:

1. = gt
2. % THT
3. % TUIT



4, v TRTST

Question Number : 176 Question 1d : 54592724821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e ™=T A Sia-ar ersg Tifeldl &7

Options:

1. = 2@l
2. = Orar
3. % gUIdr
4. v USRI

Question Number : 177 Question Id : 54592724822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI GAT3IT o 3 § o 3rger I 37T g o M # 9 0T el gid 82

Options:

1. v el
2. % Tleltl
3. * ol a=
4. = HIAT

Question Number : 177 Question Id : 54592724822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST gaRt F ITA T UG T AAT & T ol H T AT 255
Bld &7
15&?%
2. = gfelar
IGUECEG]
4, = HTEAT

Question Number : 178 Question Id : 54592724823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



B U Q4 g, # DI §7 hRe Toig 3R vt g?

Options:

1. v STHR (FYTH)
2. * GHEY (TLS)
3. = @dl (FIW)

4. » GHUSH gt

Question Number : 178 Question Id : 54592724823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AST O YEceh ¢, # e @7 Feh Toog 30 erfera &7

Options:

1. v 3TIRIOT (GodH)
2.« TEITY (YS8N)
3. % Tl (T2TH)

4. = FHICT Iaaf
M B |

Question Number : 179 Question 1d : 54592724824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAHATel G ATRdl # I &7 g ghlel T SETE 57

1. v TH TGTT

2. % T TEAD UGT &l
3. % THYEAD UG WFl g
4, % & DI IA 3

Question Number : 179 Question Id : 54592724824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafel =T arerar # ST OT HidsThTel T 3SIEL0T &7

Options:

1. v A 99T
2. = TH TEH ggT &r




3. * A TEAH UG @l )

4, » T FTH =T &

Question Number : 180 Question 1d : 54592724825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TATTad e & Tel7 TaU Feree(ul # & 39 TR il [KiTvgd DIyl

TH WIS Y ToldT; Ddiich GLT gl TS il

Options:

1. * T a1
2. v Y a1pg

3. * 9gpd a1
4. * 3UATHY

Question Number : 180 Question Id : 54592724825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el @T ag & v BT Ahedl 7 & 38 UhH FI
BIGGECIISES

IH o Hiofel T Tolam;, Faifer gear ar a5 o7

Options:

1. = Il dTFY

2. v T8 gy

3. = H-gci—d GIERS

4. = 39dierd

General Hindi2
Group Number : 10
Group Id: 5459271230

Group Maximum Duration : 0



Group Minimum Duration : 120

Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi?

Section Id : 5459271230

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number : 1
Sub-Section I1d: 5459271475
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592724826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel I @ & Telq TS MY feieheldl # & IHh YR @l Teivgd DIy
|

3ITSTeheT o7 9 ATATIT H hISATS T § &I oiich &6 4 df 39 3YU gl B
fear 3l

Options:

1. # 9o dTpd

2. v Ggth AT
3. = A9 a1
4. « & AT

Question Number : 181 Question Id : 54592724826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frafe@T g & O fv 9w Beur & & 39 UK &I
Rifega Friee]

MTTehel TYT & AT H FiSas ar § ar offehel &6 o dr 39
S & Y feam gl

Options:

1. = Il ATy

2. v H-l_-l;ci'd GIERS
3. = AT g
4.,

¥ eld diay
2

Question Number : 182 Question Id : 54592724827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt # D97 g a0 g2

Options:

1. » QeRge T9Q 9o9 Jgaan dicr §
2. % QeiyC oY g

3. * YoRyge Ty &f St 3t 2

4. v TaEC TG I AT gl

Question Number : 182 Question Id : 54592724827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAraTelRIT & FIa-AT g aFT &7

Options:

1. » Ua¥e fOEY 9ad 3wadd dier &
2. » TRTE T &

3. * TaEe Ay fr = A B

4. v TE¥e ¥ET 3TIdH el gl




Question Number : 183 Question Id : 54592724828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAATel T § & 77 2T T Sger pdT g2

Options:

1. = i
2. * TSl

3. v &A1
4, » g &

Question Number : 183 Question Id : 54592724828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ferFstleliad & & Ifsuar &1 Sgads F41 &7

Options:

1. = e
2. = ST
3. v E{'jl'%zl'ul'
4. = e

Question Number : 184 Question Id : 54592724829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATerEd H g AT DT AT hi Tl

Options:

1. * T ST el gl AT & TAT T3 &

2. % ol T AT I TA UAYT AT &

3. * AT gl &F pdlTch Dot JH Tg! AL
4, v TH, DT gl AT & BRI TALT T51 &1

Question Number : 184 Question Id : 54592724829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GEICIEG R A& ATFT T TIA HIST]

Options:

1. = A S For 787 3 & odam 7 &




2. = el of el @ A THET ST &
3. « w{iam T & FF Fel gH AE IR
4. v IHG, Fel AT el & HROT GIETT T8l &

Question Number : 185 Question Id : 54592724830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T SIS # hIF-HT et aTeren TshaT Taeiyer g2

Options:

1. v MRaz

2. * SIgT
3. x Hia¥

4, * 3T

Question Number : 185 Question Id : 54592724830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeT eear H HIT-OT Il ardes ohar Fewor §7?

Options:

1. v ooz

2. = §IgY
3. = HIaT

4, x IR

Question Number : 186 Question 1d : 54592724831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel I H IT-8T WLIH [ET DT IS 87?

Options:

1. ¥@ET QTG
2. v | 3T B P

3. * g WY [gah §
4 » qgATET &

Question Number : 186 Question Id : 54592724831 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

fAeITel&aT A Sia-ar ALTA IEY HT 3TV 87

Options:

1. = H FT T|T @& ﬁ

2. v qH 3Tel HIA coog)

Question Number : 187 Question Id : 54592724832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTGATET Giel T e[, el FATTel T e, Tty

Options:

Question Number : 187 Question Id : 54592724832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AfgATATA gielaT ersg T Ffelar oree AT

Options:

1. » ATSHATATS
2. v HATgATadr
3. % ATGATAAT
4. = ATEATATAT

Question Number : 188 Question Id : 54592724833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # & Tl aTpdi Dl DISHT AT FHT HRIATHG aThdl # JUiTRTH &1

Options:




1. v YT 3 TaqHATICH e
2. % Gl ATHY

3. = [y arpd

4. = YYHd AT

Question Number : 188 Question Id : 54592724833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAed # I Tohol aTFAT I BISHT AY THT T IIcAS el H
qUIfeRTH T SRINeT BT 87

Options:

1. v UeeTaET Y BEAaicargs

® el dlay

2.
3. % & g
4. = FYFT I

Question Number : 189 Question 1d : 54592724834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # & DI-9T 31, T @1 TG g7

Options:

1. % ()
2. v ()
3. = (1)
4. = {-)

Question Number : 189 Question Id : 54592724834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeer & O Fla-ar 314 AuH &1 ”eg &7

Options:

1. = (,)
2. v ()



3. % (1)
4. % ()

Question Number : 190 Question Id : 54592724835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3ITST & Far I av qef gl ad=it # T # & hl<-971 Uep gt Felw Faig 9m?

Options:

1. v quf fem
2. % ITeTUTCRTH

,

3. * WA fo+g

4, * 31g, TR

Question Number : 190 Question Id : 54592724835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T @ |ar & avy qu &< scer # foieel # & Hie-A1 Uk &
B\ Reg o

Options:

‘I.JEI;UTFC'ITI?:I'

2. = 3eUTalTH

3. » Yesidraeh <@

4. = g UA

Question Number : 191 Question Id : 54592724836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SRUTIT-T&h § DI-TT O F{g @ TgiT g?

Options:

3: % eI g

4. » I T2 g

Question Number : 191 Question Id : 54592724836 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

eRUTETT-I&Teh H Hid-ar [BUA ™eg T 9T &7

Options:

1. = SEAIfe Sras
2. v §aIeh OUH Reg
3. % Toidere e

4, = 3T ™og

Question Number : 192 Question Id : 54592724837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

31T grYT o1 YgTa 1 31 T 22

Options:

1. v @ QI AT
2. % SpITE g

3. % P Ul dgl

4. = 84 gl

Question Number : 192 Question Id : 54592724837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

318 g1l ofelT HEa T 3 FAT &7

Options:

1.Jaﬁ@1€r§m
2. % IfSd &l
3.w§a—a§aﬁaﬁm
4, = SF Frell

Question Number : 193 Question Id : 54592724838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GTeh BT YgTee dl 37 AT g2

Options:

1. v 9Ch-T




2. % TIST
3. * Ul GrEET

4. % GHATLT HLET

Question Number : 193 Question Id : 54592724838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTeh STelall HgTaY FT 37 FT §7

Options:

1. v HIHAT

2. % Gigar
S.meﬂm

4. = HHATCT HhIdl

Question Number : 194 Question Id : 54592724839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gieT UgTS Mdelt igdT dgrad a1 3¢ 3l

Options:

1. * 379 URYH HLAT

2. v 318 TN, 3Te]T o
3. = OF ST

4, = 3T8® Agd AT

Question Number : 194 Question Id : 54592724839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fler ugTs foshell Tf@AT wEmad 1 37

Options:

1. = 3T TRAH FLal
2. v 3T UHH, 36T ol
3. % UH ST

4. % 3R AGAd Ll



Question Number : 195 Question Id : 54592724840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T Y UTHT T UTHT hgrerd @ 37 a8y

Options:

1. = T 3R ¥ 3 Weldl
2. v QUL &I
3. * el il

4, = Tchd Il dTd

Question Number : 195 Question Id : 54592724840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G T Y TTell ST TTeil’ hglad 1 3T T80

Options:

1. % AT 3T T FAGHoldl

2. v qUT SO
3. = %ol T
4

# Uencdhl dlid

Sub-Section Number: 2
Sub-Section Id: 5459271476
Question Shuffling Allowed : Yes

Question Id : 54592724841 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Question Label : Comprehension



T HTel T TTENTer &l Ugehd 1T Y WL T IqaX 2|

SIATRI <Al TAEAT TSI A el ST gl TG(GEATT T AW B & el T
ﬁ@%w%mmﬁaﬁwmwﬁml 3T T 7, e
ﬁamwﬁmﬁmaﬁm%w%wmwmaﬁ?aﬁa
ST -4 29T & a7 e 37 ST 48 T9C gl g &, T T
wﬁmﬁﬁﬁmﬁwﬁmnﬁeﬁlww%mm
Tagd WIS § Wl gU oAl AgIgeg ol FATTE F T gl AT 31T T2
SRUMTEAT & 3ITeTH 377 3MTYas Fehe ¥ 3T GUGAT Bl 3N drer g7 fa
3ol IULIT i TG IAT BT HT SIS AT Teh IR 31 AR FTHH
9Tk YT Ta § TP M IqUICT el AT g, SE 3T IUTC ATl HTe
UgPHd TS gl FHRT fhaT od & 6-7 HEIHT dhR T@dT g 3R Yiag giaeni
i AT aF 3N It @0« §-

Sub questions

Question Number : 196 Question Id : 54592724842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GHTT Th g Tohds 90 ETell L@aT g7

Options:

1. » T gl

Question Number : 197 Question Id : 54592724843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SURId e h IR DRI thl THYAT Tehdehr T 7

Options:

1. * YRA & TUTTAAT BT
2. v 3USIT gPAT Bl

3. = cL@nor &y

4. = JTAHT Pr




Question Number : 198 Question Id : 54592724844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SR SUTST e o STTER SUSI TGS T AT &y Tehar?
1pw3%ﬂwu=r%ﬁa$r:rutmrr

2. % LA &g AT DI i TTshdT el STTcel ST

3. = 37TT & HR

4. v JENT 8T P TYC ThaT 3N TIRIT STe GG P T UishdT

L
Sllcel sildl]

Question Number : 199 Question Id : 54592724845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SUAD T eh ITER AN Y Afch YT PT TSI g2

Options:

1. * Tep 31X IUICH Dl BHT

2. * THIA I IqUIC e ATl HTE UG US giv &

3. » YTHP B Dl GUF AT P BT

4, v Ueh 31X IUTST Dl BT 3T TFA 3N ITUTST & AT Fre
TG U g

Question Number : 200 Question Id : 54592724846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THATel G 3TUTST TEr<r &1 Suen Sdrsyl

Options:

1. * YR U T4 9T

2. # SRS PT BTAgY

3. v WA H SIS i GagaT
4, % A BT T

Question Id : 54592724841 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



farafafEa earer o1 gget {E 310 wea &1 3ca¥ &

Wﬁwmwﬁ%h TgegEcilel hT NS0T
T ok oIT 3e@lel TET o 3T Ioell hl oI5C hial J Tohrar
| 3T TG of, TorgerT 382 ATHNT Feleh IT 3HiThE & &
IR AT IT 59 JAEAT M JAfed Famar - dor & ar
Uk 3 3T Yo TS @ Ueh oA, T HE AR FraTerdt
T ATT & FTHT g T o gT ARG & TAT &R Aagh
mﬁﬁ?ﬁﬁmwﬁmﬁﬁﬁwaﬁﬁ%m
Mg | RUMTAAT & HAEEHA 3T ATAF Hehe o IH HHAEAT Hi
3 T ST G| 3MToTshel 3UANET T TE3il ST T SUSTRT
T Teh HRUT §| AN HTAF i e W § Teh 30T Iedrcst
T AT &, GERT 3T ScuTee AT ATl T U9 &1 AN
fraTer o A 6-7 ABIT dhR ET & 3N AT STHST Hr
FEufa ar 3w off == &-

Sub questions

Question Number : 196 Question Id : 54592724842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gART Torara Forasl THT JTell &T 87

Options:

1. = AT GT
2. v 6 -7 HAarsl
3. » Hig

4, = FHT-RHT

Question Number : 197 Question 1d : 54592724843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ST ATEGTLT F 3TN ShRT hT FAEAT foreeht 3T 87

Options:

1. = NI & TUTAHAT hl
2.@34?)\_:?[36?:!?[3%

3. = CEATTerAT R

4, = 3TTRV8TT T

Question Number : 198 Question Id : 54592724844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SHFT ATST TIRT F AR AT o faegrdrer 1 o
| e

Options:

1. % 3T ol T s foraT
2. » GTHNT ST IR FTaA T URAT T ST Tl
3. = 3TT&T & HROT

4. v 3 gl F ¢ fFAT I TFHRT F IR R Hr
UTehaAT hl STTcel STl

Question Number : 199 Question Id : 54592724845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STRISFT IEITT & HTAR GANT HATAF i = FAT UsT 87

Options:

1. = U 3 3cUTel HT FaAT
2. » @Al 3 3cUles & AT | 39 93 gl &
3. « HHE FT AT TS FUfT & FROT

4. v T AN 3cUiga T FAT 3 T 3N 3cuee & Alela
HIeT 3P T3 Bl |




Question Number : 200 Question Id : 54592724846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IGEGICIESG M IR N BN R R

Options:

1. * T Uk I 39T
2. % SSTITRT FT SAEN
3. v ART A SUSEIRT Rl AET

4. = AT T hdTd




